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The following table shows the details of =even companies (A-G) about
(1) The percentage cost distribution of production of two items I and IL.
(11) Ratio of cost of production between 1items I and II. and

(i) Percentage profit earned for the items I and IL

Cost of the production (both items together) by seven companies 1s T 50 crores.

In accordance with the data in the table. answer the questions 1-5:

Companyv-wise Distribution of Production Cost and Profit

Percentage Cost of Ratio of Production Cost | Percentage Profit Earned
Company | Production of Item I and
Item II Ttem I Ttem IT Item 1 Item IT
A 15 2 3 25 20
B 11 3 ’ 32 35
C 22 4 1 20 22
D 8 3 b 15 25
E 27 b 3 28 30
F b 1 4 35 25
G 12 1 2 30 24
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A 15 2 3 25 20

B 11 3 2 32 35

C 22 4 1 20 22

D 8 3 5 15 25

E 27 5 3 28 30

F ) 1 4 35 25

G 12 1 2 30 24

What 1s the total cost of production of item I by the Companies "A” and ‘C” together?

(1) ¥ 185 Crores
(2) T 11.8 Croves
(3) ¥ 8.325 Crores

(4) T 9.8 Crores

-
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1[Option ID=19201]
2[Option ID=19202]
3[Option ID=19203]
4[Option ID=19204]
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The following table shows the details of seven companies (A-G) about
(1)  The percentage cost distribution of production of two items I and II,
(i) Ratio of cost of production between items I and II. and

() Percentage profit earned for the items I and II.

Cost of the production (hoth items together) by seven companies 1s T 50 crores.

In accordance with the data in the table, answer the questions 1-5:

Company-wise Distribution of Production Cost and Profit

Percentage Cost of Ratio of Production Cost | Percentage Profit Earned
Company | Production of Item I and
Ttem II Ttem I Ttem IT Item I Item IT
A 15 2 3 yid 20
B 11 3 . 32 35
C 22 4 1 20 22
D 8 3 5 15 25
E 2 5 3 28 30
F b 1 4 35 25
G 12 1 2 30 24
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i) =Wl () 1 g 11 eI o0 & e # aieee
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Ov= HeA 19 5 o % I Bl

. iia . | 3T wvm s | At e w5 atee

04T | 75 I v 11 =h 30915 <I0Td =6 Tia9Td
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A 15 2 3 25 20

B 11 3 2 32 35

C 22 4 1 20 22

D 8 3 5] 15 25

E 27 ] 3 28 30

F 5 1 4 35 25

G 12 1 2 30 24

What 1s the amount of profit earned by Company ‘D’ on item 1?7
(1) % 6.25 croves

(2) T 1.25 crores

3) T 6.25lakhs

(4) T 62.51akhs

FHT D’ - i g5 11 W Al =g =i i = 2 e

(1) 6.25FITF

(2) 125 ®




G) go5wmm =

(4) G2.57MmF =

1[Option ID=19205]
2[Option ID=19206]
3[Option ID=19207]
4[Option ID=19208]
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The following table shows the details of seven companies (A-G) about

(1)  The percentage cost distribution of production of two items I and II,

(i) Ratio of cost of production between items I and II. and

() Percentage profit earned for the items I and II.

Cost of the production (hoth items together) by seven companies 1s T 50 crores.

In accordance with the data in the table, answer the questions 1-5:

Company-wise Distribution of Production Cost and Profit

Percentage Cost of Ratio of Production Cost | Percentage Profit Earned
Company | Production of Item I and
Ttem II Ttem I Ttem IT Item I Item IT
A 15 2 3 yid 20
B 11 3 . 32 35
C 22 4 1 20 22
D 8 3 5 15 25
E 2 5 3 28 30
F b 1 4 35 25
G 12 1 2 30 24

FeAfeiiga arferht § A 8 & G 7% i @1d FHE1 & a1 H 39 =01 P G Sedl 2

i) =Wl () 1 g 11 eI o0 & e # aieee
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A 15 2 3 25 20

B 11 3 2 32 35

C 22 4 1 20 22

D 8 3 5] 15 25

E 27 ] 3 28 30

F 5 1 4 35 25

G 12 1 2 30 24

Cost of production of item I by company 'F 1s what percent of the cost of production of item II
by company D'?

(1) 16%
(2) 33.33%
(3) 66.67%
(4) 20%

FHT ‘D’ - F1 75 I1 W 3cared <FTd i gern |5 Fo F Fi 95 1 9@ 3 a0 =61 giaerd #4027

(1) 16%

(2) 33.33%
(3)




1[Option ID=19209]
2[Option ID=19210]
3[Option ID=19211]
4[Option ID=19212]
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The following table shows the details of seven companies (A-G) about

(1)  The percentage cost distribution of production of two items I and II.

(i) Ratio of cost of production between items I and II. and

(i11) Percentage profit earned for the items I and IL

Cost of the production (both items together) by seven companies 1s T 50 crores.

In accordance with the data in the table, answer the questions 1-5:

Companyv-wise Distribution of Production Cost and Profit

Percentage Cost of Ratio of Production Cost | Percentage Profit Earned
Company | Production of Item I and
Ttem II Ttem I Ttem IT Item I Item IT
A 15 2 3 i 5] 20
B 11 3 32 35
C 22 4 1 20 22
D 8 3 5 15 25
E 27 5 3 28 30
F 5 1 4 3b 25
G 12 1 2 30 24

Trafataa @i 8§ A 5 @9 G 7% 91 919 F9ET F 90 H 39 S w5 [Fae st w
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g I A 11 7z 1 az 11

A 15 2 3 25 20

B 11 3 2 32 35

C 22 4 | 20 Z2

D 8 3 5 15 25

E 27 5 3 28 30

F 5 1 4 35 25

G 12 1 2 30 24

What 1s the ratio of the cost of production of item I by company "A’ to the cost of production of
item I by company ‘D7

1) 3:5
(2) 1:2
(3) 2:1
a4 2:3

ug 1% T &t D" il SeareT SIFTa w1 g § @At AT Sered ST 1 S w91 27

(1) 3:5
(2) 1:2

3) 2:1




(4) 2.3

1[Option ID=19213]
2[Option ID=19214]
3[Option ID=19215]
4[Option ID=19216]
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The following table shows the details of seven companies (A-G) about

(1) The percentage cost distribution of production of two items I and II.

(i) Ratio of cost of production between items I and II. and

(111) Percentage profit earned for the items I and IL

Cost of the production (both items together) by seven companies 15 T 50 crores.

In accordance with the data in the table, answer the questions 1-5:

Company-wise Distribution of Production Cost and Profit

Percentage Cost of Ratio of Production Cost | Percentage Profit Earned
Company | Production of Item I and
Ttem II Item I Ttem II Item I Item IT
A 15 2 3 i 5] 20
B 11 3 ? 32 35
C 22 4 1 20 22
D 8 3 5 15 25
E 27 5 3 28 30
F b 1 4 35 25
G 12 1 2 30 24

Fr=feifige aTferhl § A | =9 G 7 h1 B9 FAEA 6 S1 59 S0 R =001 g 2
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A 15 2 3 25 20

B 11 3 2 32 35

C 22 4 1 20 22

D 3 3 5] 15 25

E %l b B 28 30

F 5 1 4 35 25

G 12 1 H 30 24

What is the sum total of the profit earned by Company ‘B’ on the production of item I and the
profit earned by Company "A’ on the production of item II?7

(1) ¥ 97.8 lakhs
(2) ¥ 1.956 crores
(3) T 5.28 crores
4) T52.8lakhs

FET B F AT 1 F IR W AT Y R Fw A H AR [ IoheA W oATSa o Fe
FTET

(1) 978w M@=

(2) 1.956 #02%




(3 528 iz =
(4) D2.37ME %

1[Option ID=19217]
2[Option ID=19218]
3[Option ID=19219]
4[Option ID=19220]
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Which of the following are essentials to be ensured while conducting an Online Examination
based on ohjective questions for credebility of degrees?

(A) Proctored Environment

(B) Authentication of candidate

(C)  Authentication of parents
(D) Hardware and Software testing
(E)  Answer-sheet with proper numbering for writing answers

Chooze the most appropriate answer from the options given below :
(1) (A)and (B) only
(2) (B) and (D) only
(3) (A). (B) and (C) only

(4) (A). (B) and (D) only

f=fr #1 favasdam + o 3o 7991 W anaiig T T SEid Fd O Feend 0 3
(A)  FEEIEE ATEE

(B) IHHGAR = THIH

(C)  wT-Tar =1 =

(D) FTEEA SR HiFEE T

(E) = formd = Toiv, wgfem @ & @9 S -
fr= fou o fapei © O e T I = A
(1) F=7= (A) #FR (B)

(2) 3= (B) 317 (D)

(3) e (A). (B) #Hi (C)

(4) Fad (A). (B) =i (D)

1[Option ID=19221]
2[Option ID=19222]
3[Option ID=19223]
4[Option ID=19224]
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Given below are two statements : One 12 labelled as Assertion (A) and the other 1= labelled as

Reason (R) :
Assertion (4):  Multiple testing instruments must be used for formative assessment.
Reaszon (R) : Formative assesaments are used for providing credits.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) 1s correct but (R) 1= not correct

(4) (A)is not correct but (R) is correct

"

4= 71 FoF fom MU 2 vF ATYFRE (Assertion A) F EW T fAfEa 2 1 7T I9F FAW (Reason R) F F9
H

ATTFIT (A) : 5 WA W T oA & 10 WA 3 wE 9 =ie |
* by n) T Ny - EY

F0 (R) : TEATEEE YA YA Hie2 2 F e w2

I A F A °, A e T e o e T T = i

(1) (A) 3R (R) 5F1 &8 £ =11 (R). (A) i °dl =z 2|

(2) (A) 30 (R) 5H1 981 2, =t (R). (A) 1 T2 =men 7251 2 |
(3) (A)=F 2, = (R) @& T80 2 |

(4) (A) =& i 7, < (R) 99 21

1[Option ID=19225]
2[Option ID=19226]
3[Option ID=19227]
4[Option ID=19228]
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For building a professional environment of an Educational institution

(A) A teacher must ask his’her students about other teacher’s teaching methodology.
(B) A teacher must feel envious about other teacher's professional achievements.
(C) Teachers must work as a team.

(D) A senilor teacher must encourage junior teacher to contribute in research and other
academic activities for the institution.

Choosze the correct answer from the options given below :
(1) (A)and (D) only
(2) (B) and (C) only
(3) (C)and (D) only

(4)




(A). (C) and (D) only

[T W

Tt Stferr === =1 ST S S F e
(A)  HSTE B A AR I 0 TG F AR H A0 B0 B SE9T THAT =0 |
(B)  ENITE F A SENTE F UITE IS F AE § TS TEgE FA 9m0E |

(C) A9 Fl U oA & B9 H HE F1 91060 |

(D) g FA9F F FEAE ASATE T AL F U FTEGE 9 7 GiEE FEFAE § TOEE FH F
o0 TeHTES AT e |

H= ou U fasedi | ° HE 3T 0 99 I
(1) Fae (A) 3R (D)

(2) FF4 (B) 1 (C)

(3) Fa (C) =1 (D)

(4) A= (A). (C) i (D)

1[Option ID=19229]
2[Option ID=19230]
3[Option ID=19231]
4[Option ID=19232]
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ARPIT courses. as Online Refresher courses. are offered on SWAYAM platform by
(1) UGC-HRDCs only

(2) PMMMNMTT centres only

(3) National Coordinators of SWAYAM courses

(4) National Resource Centres in different disciplines

T TOF9R FE # %9 § ARPIT F84 Fefafaga d o 9% gr =9 (SWAYAM) wizsd o e
B ?

(1)  %Fae UGC —HRDCs g

(2) FF PMMMNMTT #5130

(3) A FEF F TEH THTH G
(4) TS T O wE TEeE F

1[Option ID=19233]
2[Option ID=19234]
3[Option ID=19235]
4[Option ID=19236]
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Which of the following is NOT a characteristic of a MOOC? It can be accessed
(1) Anytime
(2) From any device having Internet browser

3) Only in the classroom

(4) Anywhere




fr=feaa 5 9 F MOOC i1 fawman 98 27 20 w@r ° 2@ 1 957 2

(1) =+ o

(2) e e A (i ot 33 1
(3) Fa= = T H

(4) Fa= i

1[Option ID=19237]
2[Option ID=19238]
3[Option ID=19239]
4[Option ID=19240]
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Given below are two statements :

Statement I: Developing research questions means narrowing down and focuzing directly
on what you want to know.

Statement IT : A research guestion does not prompt a researcher to do literature survey.

In the light of the above statements. choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I 1s true but Statement II 1= false
(4) Statement I is false but Statement IT is true
#= 21 #om oo e £

woA () :  SEGH 99 SH 1 SATAIE | A A E9Ed A 39 W E HiHa 31 g w5 E |

Faa (D) :  SFEGH T99 ATEGHFA F Alzed GaE0 F F o0 gicat=a T8 w2
IIFT A T A 4, = 5w e 8 8 98 3 % =59 i

Q) FHEIACIOZAITAE |

(2)  Fya 1 3R I 2MT 29 & |

(3) o[ 157 2, o4 F99 1L #5979 = |
(4) oA 1959 2, A Fe9 L TA 2 |

1[Option ID=19241]
2[Option ID=19242]
3[Option ID=19243]
4[Option ID=19244]
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Match List I with List IT

List I

Data collection method

(4) Field observation

{(B) Focus group

(C) Intensive interviewing

(D) Case study

List IT
Characteristics

(I}  Collects information from many data
sources

(II) Gathers detailed information from a
small. non-random sample

(III) Gathers preliminarv information for
a research project

(IV) Studies a phenomenon in natural
settings

Choose the correct answer from the options given below :

(1) (A)(I). (B)-(IIL). (C)-(ID). (D)-{IV)
(2) (A)-(II). (B)-(IV). (C)-(IIL). (D)-(T)

(3) (A)AIIT). (B)-(IV). (C)-(I). (D)-(II)

(4) (A-IV). (B)-(I1D). (C)-(I1), (D)-(T)

g1 % =12 gi-11 =1 Hee Hifae

-1
(A) &= FEeE
(B) %A Oz

(C) TET TR =

(D) == e

Hr= Tou o faFeal § | =5E 39 =9 Fiaw

(1) (A)-(D), (B)-(IID). (C)-(II). (D)-(IV)

(2)  (A)(IT). (B)-(IV). (C)-(III). (D)-(I)

(3) (A)-(IID). (B)-(IV). (C)-(I). (D)-(IT)

(4) (A)-(IV). (B)-(III). (C)-(IT). (D)-(I)

1[Option ID=19245]
2[Option ID=19246]
3[Option ID=19247]
4[Option ID=19248]

11T

(@D % ATHS! G W T BUE FAT E |

AD) ", W-agtes Tae d@ faega g
2T R |
() FFEE A= F fAu aEeE g
T |

—

(IV) TG HieH § 521 F1 5991 Fa1 ¢ |
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Given below are two statements :

Statement I: The standard deviation of a sampling distribution of a statistic is often called
ag ‘standard error’.

Statement IT: When number of samples taken from a population is between 30 to 60, they
are called as small samples.

In the light of the above statements. choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement II 1s incorrect

(4) Statement I is incorrect but Statement II i= correct

fa s Fm ffom 3 .

FoF (D) :  UF Tfeahl & Saaaq =@ F FHF G99 F TR 0EE 32 Fa A6 7

Fo (1) : =9 S5 ¥ foe 7 gfaeer i @ 30 @ 60 % == 7, a9 3= oig 9faeel Far 71T # |
I HF F A 4, A 50 T fawed 0 | ge| S9E ST waE Hie

(1) o I3 I EF a8 2 |
(2) FoA 1R L ZA 74 7 |
(3) FuHE LT3 2, #fFA wua 1L em 2 |

(4) e I Tedd _7‘{. E.; r::\‘;:I FH II I‘—Fﬁ _;'3 |

1[Option ID=19249]
2[Option ID=19250]
3[Option ID=19251]
4[Option ID=19252]
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What 1= the full form of the Software SPSS?
(1) Statistical package for Social Sciences
(2) Statistical package for Scientific Survey
(3) Special Program for Social Security

(4) Scientific Program for Secial Survey
SPSS HIFZER =1 P AH 727

(@) drmrE e e
(3) =W g % o faem wm

(a) TS e = fom St v

1[Option ID=19253]
2[Option ID=19254]
3[Option ID=19255]
4[Option ID=19256]
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An exploratory research on a small scale 1s called
(1) Sample test

(2) Pre-test

3) Pilot test

(4) Informal test

(1) A W
(2) T T
(3) THEIFTE Wi

(4) FHEM=TRE WiEm

1[Option ID=19257]
2[Option ID=19258]
3[Option ID=19259]
4[Option ID=19260]
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When communication contents are purposefully adjusted to fit an ideclogy. the result will be
(1) Internationalization

(2) Promotion of peace

(3) Social practicability

(4) Power distortions

oS
3

‘?I‘ﬁ\'ﬂ]TElﬁTl'l

(3) TENHF =EEFA

(4) i madi At

1[Option ID=19261]
2[Option ID=19262]
3[Option ID=19263]
4[Option ID=19264]
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Which of the following can be cultural barriers in classroom communication?
(1) (A)and (B) only
(2) (B)and (C) only
(3) (A). (B) and (C) only

(4) (C). (D) and (E) only




Frmtfnfi & @ i e & aw # gt s A T 2

(A) oy
(B) Tu= ¥
(C) =g 9&d (EiEeE=)

(D)  afFaF gometied

i fou o fahedl A o T I S A=A i
(1)  Fa= (A) FR (B)

(2) #Faa (B) 5T (C)

(3) A (A). (B) 311 (C)

4) T4 (C). (D) =11 (E)

1[Option ID=19265]
2[Option ID=19266]
3[Option ID=19267]
4[Option ID=19268]
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Given below are two statements :

Statement I : Conditioned words can be used to revive old emotions in irrelevant
situations.

Statement IT: Stereotvpes do not have emotional colour related with the superiority
feelings of the upper class groups.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false

(3) Statement I 1= true but Statement II 1s false

(4) Statement I is false but Statement IT is true

EERARE R A A
FoH (I):  ATEt G § W S i % fon sgiea e oI e .

TFAT B |
F (D) : %¢ S&dl § o9 @ % =gl i 841 F 909 H 31 WiEeHE AHE TE B 2 |

IHIFA FH AR 5, A= 150 T el 8 H HE 3T =Ee i
(1) #F [ AR IS T & |

(2) Fw I A IL3AT 38 # |

(3) FA 19H 2, =it Fo I 3399 2 |

@ Foa I 370 7, = HA [I 99 2

1[Option ID=19269]
2[Option ID=19270]
3[Option ID=19271]
4[Option ID=19272]
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The second model of communication by Wilbur Schramm has the sequence of following
elements:

(A) Encode
(B) Interpret
(C)  Modify
(D) Extend
(E) Decode

Chooze the correct answer from the options given below :
(1) (A), (E). (B). (C). (D)
(2)  (A).(C). (E). (D). (B)

(3) (A). (D). (B). (C). (E)

(4) (A). (B). (C). (E). (D)

e g % gomm el fgam viaey 8 Aoteaiga = w8 27
(&) ForEd w1

(B) =T i

(C)  =Iomed

(D) faw=am #=0

(E)  fa=wr=a ==

= feu o fawedt O © w8t 3 w1 999 Fitan

(1) (A) (E) (B) (O). (D)

(2) (A, (O). (E). (D). (B)
3) (A) (D). (B). (C). (E)

@) (A). (B). (C). (E). (D)

1[Option ID=19273]
2[Option ID=19274]
3[Option ID=19275]
4[Option ID=19276]
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Match List I with List IT :

List I List IT
Description Type of Communication
(A) Silent Prayer (I} Grapevine
(B} Teacher speaking to people at a (II) Intra-personal communication

public place

(C) Exchange of ideas with the staff of (III) Group communication
equal cadre

(D) Informal information exchange by (IV) Horizontal communication
employvees

Choosze the correct answer from the options given below:
(1) (A)-III). (B)-(IV). (C)-(I). (D)-(IT)
(2) (A)-(II). (B)-(I1L). (C)y-(IV). (D)-(D)
(3) {(A)-(IV). (B)-(I). (C)-(II). (D)-(IIT)

(4) (A)-(D. (B)-(IT). (C)-(I1I). (D)-(IV)




=i 1% g 9=t 11 =1 e it |
il
o WA

(A) T W

(B) H=ATYF UF HEAHF T T AAd 5

(C) T9W =t F Fa=mdl & @y fa=mi =
AEHA-TEH

(D) =TT GRT SHIT=TE = H T
S

f&u 0 faweTi 9 O 99 I F 999 S
(1)  (A)III). (By-(IV). (C)-(I). (D)-(II)
(2) (A)-(II). (B)-(IIL). (C)-(IV). (D)-(I)

@) (A)-IV). B)-D. (C)-(ID). (D)-II)
(@) (A)-D. (B)-(ID). (C)-(III). (D)-(IV)

1[Option ID=19277]
2[Option ID=19278]
3[Option ID=19279]
4[Option ID=19280]

I

T 11

Iy =F\-TaE

(II) o1 A FaF g

(IID) =gz Fem

(IV) &fasim gemm

Sl. No.21
QBID:1511021

Find the wrong term in the given series:
7. 28, 63. 124, 215, 342, 511. .......

(1) 28
(2) 63

=i T e ° AT 9T e B Y
7. 28. 63. 124, 215. 342, 511, .......

(1) 28
(2) &3
(3) 3542
(a4 211

1[Option ID=19281]
2[Option ID=19282]
3[Option ID=19283]
4[Option ID=19284]

Sl. No.22
QBID:1511022

A man bought 13 chairs and 5 tables at a total cost of Rs. 828

table is Rs. 1227, What 1s the average cost of a chair?

(1) Bs. 165
2) R=.175

(3) Rs=.155

0. If the average cost of the




(4) Rs.166

wF = 3 13 TR R 5 5 8280 T F o 9 W G | A v A A+ i g 1227 7 A,
Al TF FHT F1 HAEa g A B

(1) % 165
(2) = 175
(3) % 155
(4) % 166

1[Option ID=19285]
2[Option ID=19286]
3[Option ID=19287]
4[Option ID=19288]

Sl. No.23
QBID:1511023

Find the next term in the series:
BMO. EOQ. HQS. ?

1) EKLM

(2) LMN

3) KSU

(4) SOW
9 Y § S G 4 A
BMO. EOQ. HQS. ?

(1) ELM

(2) LMN

3) EKESU

(a) SOW

1[Option ID=19289]
2[Option ID=19290]
3[Option ID=19291]
4[Option ID=19292]

Sl. No.24
QBID:1511024

A person reaches his destination 40 minutes late if his speed 1z 3 km/hr and reaches 30
minutes before time if his speed 1z 4 km/hr. What is the distance of his destination from the
starting point? (in km)

a) 12
(2) 13
(3) 10
4) 14

FiE =Afag 3 .. [ger F1 7fq 9 9o 40 oz F1 30 ¥ 991 797 9% wad 2 @R 4 FA g A
T F "o W 30 T2 U UEe e 7, ARIYE TN 3696 1A 9% B g (. 7) e 27

1) 12
(2) 13
3) 10

(4) 14




1[Option ID=19293]
2[Option ID=19294]
3[Option ID=19295]
4[Option ID=19296]

Sl. No.25
QBID:1511025

What will be a single discount equivalent to a series discount of 10%. 20% and 30%?
(1) 50.40%
(2) 49.6%
(3) 20%
(a4) 45%
10%. 20% 31 30% =1 FFa: g2 70 § | 0 vhet 9z & s aei ¢
(1) 50.40%
(2) 49.6%
(3) 20%
(4) 45%

1[Option ID=19297]
2[Option ID=19298]
3[Option ID=19299]
4[Option ID=19300]

Sl. No.26
QBID:1511026

In classical square of opposition if "All S 1s P’ is given as true then which of the following
could be immediately inferred from it?

(A) ‘Some S 1s not P’ 1s false

(B) ‘Some S 13 P 1= true

[{8)] ‘Some S i1s not P 1s undetermined

(D) ‘Some S 1z P’ 1s undetermined

(E) ‘No S 15 P 1s false

Choosze the correct answer from the options given below :
1) (A). (B). (E) only

(2) (A) (D). (E)only

3) (B). (C). (E) only

4) (C). (D). (E)only




fagfa % et o # 4k, @i S, PR, # @A = A fow v 2 A1 36 Feiets § @ 9 qohe

STHTH TRTET S AFAT 2 7

(A FIS.PHE, T2

B ‘FS.PE,@EEI

(C) ‘F9 S.P7E 2, silgite 2|

D) ‘FB8.PE, wAtwifE 2

(E) ‘FES.PIE 2, T 2

= fou o fawedi 4 A TF I # = F

(1) Fa (A). (B). (E)
(2) === (A). (D). (E)
(3) F94 (B). (C). (E)
(a) F (C). (D). (E)

1[Option ID=19301]
2[Option ID=19302]
3[Option ID=19303]
4[Option ID=19304]

Sl. No.27
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Which of the following is defined as a type of lrrelevant conclusion fallacy in which a
distracting element 1s introduced to obscure an opponent’s position?

(1) An Appeal to Emotion
(2) Appeal to Inappropriate Authority
(3) Argument ad hominem
(4) Red Herring
FeAleAiEa § @ T8 7574 9969 319 & OF TR % B9 5 90 TR e 2 fwEs wiauai =it w6
(1) 4T=F1 % &0 amE
(2) = MTFE F =0 ame

(3) TS = (ad hominem) 7

@ 9 994 (Red Herring)

1[Option ID=19305]
2[Option ID=19306]
3[Option ID=19307]
4[Option ID=19308]

Sl. No.28
QBID:1511028




Given below are two statements :

Statement I: Analogical argument invelves drawing a likeness between two or more
entities In one or more respects.

Statement I : Analogical argument is a tyvpe of deductive argument.

In the light of the above statements. choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II 1s correct

Hr= 71 FoF T T E

w2 (1) :  HyAger® o 8 U A1 IEE H{0F TEeHl 8 9 A 6 Afas g % st agean i
FA A 2 |

Fod (II) : TGTIeF aF FTAREF 76 F UF T 2 |

SO e h A 4, A 150 T e 0 @ e 39 S R w9 I
(1) Fu 13 It 59 7 |

() F#A 15 I 2 Ted = |

(3) FuA 1@ 2, =i A 117 # |

(4) FUA LA B, S0 weA [ HE 2

1[Option ID=19309]
2[Option ID=19310]
3[Option ID=19311]
4[Option ID=19312]

Sl. No.29
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Given below are two statements : One 12 labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  The Classical Indian School of Logic. namely Nyava does not give separate
treatment of the inductive methods.

Reason (R) : According to Nyava universal propositions are obtained from perception
itself by one of the forms of extra-ordinary perception.

In the Light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (4)
(2) Both (A) and (R) are true but (R) 1z NOT the correct explanation of (4)
(3) (A)is true but (R) is false

(4) (& 1s false but (R) 1s true




Fr o1 Fe fou o 2 ;v sAfaeae (Assertion A) % =9 | foifad 2 o1 g0 36 #A0 (Reason R) & &9
T

ATFEA (A) : T TR F FEEE AR TOEE S =, AT GGl i 9UE e
T TEE A R

F70 (R) : A F SHAR AEEE a9 G R STETR ToAET 5§ UF S9 GRT TE Toas # o

vt bl o e e o o s M 1 ) L T e cicee | e s B e e o e 21 L
(1) (A) 37 (R) =M1 T3 7 311 (R). (A) F1 o2 == 2 |

(2) (A) 3R (R) 71 a3 2, @ifFT (R). (A) =il @21 =mea1 78 |

(3) (A) @ 2, | (R) 378 T8 7 |

(4) (A) 7\ 2, A (R) 99 71

1[Option ID=19313]
2[Option ID=19314]
3[Option ID=19315]
4[Option ID=19316]

Sl. No.30
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The argument that the fat saint must be eating secretly at night. although he does not eat
during the day and claims not to eat at all is based on which of the following means of
knowledge as per Classical Indian Logic?

(1) Verbal Testimony ( éabda}

(2) Comparson (Upamana)

(3) Postulation (Arthapatti)

(4) Non-Cognition (Unupalabdhi)
FEGFE AAE 7 T F AR 9F oF 1% A 6 04 5 T =9 9 95E # E 26, T4 698 5
qIsH T8l Fa 2 AR T FAaT 2 T a8 w9 T8 A B, T % Feietgd 3 3 HA-0 "9 W

AT £ 7

(1) =1eg UAM

(2) A
(3) F
(4) FFTARY

-

1[Option ID=19317]
2[Option ID=19318]
3[Option ID=19319]
4[Option ID=19320]
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Anil has decided to use either a DVD-RW or DVD-R. Which of the following statements are
true about these storage devices?

{A) Both DVD-R and DVD-EW are read only.

(B) DVD-R can be written-to only once.

(C) DVD-RW can be written-to many times.

(D) Both DVD-R and DVD-REW can be written-to only once.

Choosze the correct answer from the options given below :

S (A) and (D) only




(2) (B) and (C) only

3) (A)and (B) only

(4) (D)only

L s

A 7 SR 5o W E A - AR F T v T | 3 Senw mee (= TEnmE) %
ool | FE o e EE A Y

(&)  =F SEE-HR au SiEiEi- 3R 5 ¥ Hae 9% G 3 |

[

(B)  TiHIEi-30 W ael U W Tewn o 0 |

[ )

(C)  Sifidi-m S5 =% oW foren =1 & = |

[ o)

(D) EEE-wn au SHdE-3n geg g W foF vk 9n foran | g )

= fou e faFe | ¥ T I # 9E Hien
(1) F== (A) 17 (D)

(2) == (B) 3 (O)

(3) Fae (A) 30 (B)

() F= (D)

1[Option ID=19321]
2[Option ID=19322]
3[Option ID=19323]
4[Option ID=19324]

Sl. No.32
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Match List I with List IT

List I
(Computer Terms)

(4) Linux

(B) Mozilla Firefox

(C) Notepad

List II
(Deszcription)

(I)  Text File Editor
(I) Image File Format

(III) Operating System

(D) JPEG (IV) Web Browser

Choose the correct answer from the options given below :
1) (A)-IV). (B)-(III). (C)-(I), (D)-(IT)
(2) (A)-(IID). (B)-(IV). (C)-(I). (D)-(II)
(3) (A)-(ID). (B)-(IV). (C)-(D). (D)-(IIT}

(4) (A)AIII). (B)-(IV). (C)-(II). (D)-(I)




g1 % =1 g1 0 Hem Hiftw -

o1
(A) =T (I) =2 Fee 2
(B) TS F Fio D) AT TS T
(C) s (III) HTwfeT f
(D) s (IV) =% qEH

H= 15U U feeped § | @R I R SIS

1)

(2)

(3)

(4)

(A)-(IV). (B)-(III). (Cy-(I}. (D)-(1IT)

(A)-(III). (B)-(IV). (C)-(I). (D)-(IT)

(A)-(ID). (B)-(IV). (C)-(D). (D)-(I1Ty

(A)-(IID). (B)-(IV). (C)-(II). (D)-(I)

1[Option ID=19325]
2[Option ID=19326]
3[Option ID=19327]
4[Option ID=19328]

Sl. No.33
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Consider the spreadsheet ziven below:

A B C

1 Project Number of Dayvs

2 A 15

3 A 20

4 B 30

5 A 10

6 B 10

7 A 5

What is the output of the following formula in Cell C17

(1)

(2)

(3)

(4)

= SUMIF (A2 : A7, A", B2 : B7)

90




]t s e

L Eil =i
1 AT 1 =1 g
gl A 15
3 A 20
4 B 30
5 A 10
G B 10
T A 5

et € 1 7 Freffias g (Frdem) =1 aseqz 91 27 = SUMIF (A2 : A7, “A”, B2 : BT)

(1) 90
(2) 80
3) 50
(4 20

1[Option ID=19329]
2[Option ID=19330]
3[Option ID=19331]
4[Option ID=19332]

Sl. No.34
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The image. sound and video data can be created in a number of file formats. In this context.
which of the following are compressed file formats?

(A) JPEG
(B) MP3
(C) MIDI
(D) AVI
(E) DMP4

Choose the correct answer from the options given below :
(1) (A). (B) and (E) only
(2) (C). (D) and (E) only

3) (B). (C)and (D) only

(4) (A) and (E) only

= (z99), =k (=Es) st difsm ==+ %2 wEa BHe § GiEa B W @ar £ 39 A A,
feferfia o @ =Fites FEe w0 ®iH A7 -

(A SHdzH

(B) vwa3

(C) ©m e 3 e

D) udieE

(E) w4

= fau o fawedl 4 9 9E I W =9 Hie

(1) e (A). (B) £ (E)
(2) F=e (C). (D) R (E)

(3) Fa4 (B). (C) 3 (D)




) ¥ (A) 3 ()

1[Option ID=19333]
2[Option ID=19334]
3[Option ID=19335]
4[Option ID=19336]

Sl. No.35
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Which of the following is not a mobile device?
(1) Tablet
(2) Smartphone

(3) Desktop PC

(4) E-reader

fefefan o @ F-a1 T 9w 75 27

1[Option ID=19337]
2[Option ID=19338]
3[Option ID=19339]
4[Option ID=19340]

Sl. No.36
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In helping to protect prople from exposure to UV radiatiors. Montreal Protocol contributes
also 1n attainment of the following Sustainable Development Goals (SDGs):

(1) SDGs 5.11.14and 15
(2) S8DGs 3.7.11and 12

3) SDGs 2, 3.5and 11

(@ SDGs 3,5,7and 12

7 <ff fafon + g @ S | e 8 weEa e FH F o, At s @ et e
e saaiH TR FEE IR T E -
(1)  wEEr 38, 11, 14 3% 15

f

(2) = E 3.7, 11 #R 12
(3) THEE 2, 3.5 # 11

(a) TESHH 3.5, 7 3 12

1[Option ID=19341]
2[Option ID=19342]
3[Option ID=19343]
4[Option ID=19344]

Sl. No.37
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Identify the non-recyclable wastes among the following:
(A) Paper

(B) Plastic bottles

(C) Thermocol

(D) Tetra packs

(E) Metal

Choosze the correct answer from the options given below :
(1) (B). (C). (D). (E) only
(2) (B). (D). (E) only
(3) (C). (D) only

(4) (A). (C). (E) only

Frfefad # T 1 EEhE e i e fi

(A) T (FFT)

(B)  eATieE diaed
(C)  wmi=hie

(D) ZzEE

(E) g1

= fzu 7w faweTi § 9 T8 3 1 =999 FHie
(1) Faa (B). (C). (D), (E)

(2)  F== (B). (D). (E)

(3 T4 (C). (D)

(4) Fa9 (A). (C). (E)

1[Option ID=19345]
2[Option ID=19346]
3[Option ID=19347]
4[Option ID=19348]

Sl. No.38
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A kev component in Swatchh Bharat Mission (Grameen). "SLWM stands for

(1) Solid and Ligquid Waste Management

(2) Samtation and Liguid Waste Management

(3) State Level Waste Management
(4) State Level Water Management
=g WA oA (Fndm) + 5= 9eF vo ve sy vn w1 A R -

(3) 27 wgw A% TAEEE

(4)




1[Option ID=19349]
2[Option ID=19350]
3[Option ID=19351]
4[Option ID=19352]

Sl. No.39
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Match List I with List IT

List I List IT
{Source/Process) (Air Pollutant)
(A) Transport Sector (Il Methane
(B) Refrigeration and Airconditioning (I) Volatile Organic Carbons (VOCs)
(C) Landfills (II) Dioxins
(D) Incineration of Medical Waste (IV) HFCs

Choose the correct answer from the options given below :
(1) (A)-(IID). (B)-(II). (C)-(IV). (D)-(I)

(2)  (A)-(ID). (B)-(IV). (C)-(D). (D)-(IID)

(3) (A)-(II). (B)-(IV). (C)-(III). (D)-(I)

(4) (A)-(IID). (B)-(IV). (C)-(I). (D)-(1T)

-1 % =1 G- 11 1 e it

.1 11
(A) e &d @ HeE
(B) THISHTA AT wEESEE AN  =raeiied S weE (e o)
(C) == F1 &7 (FA=ea) (III) sz
(D) Tafshcahia <we =1 Wi (IV) w=uEHi (HFCs)

Jr fou e kel § 5 @ 3e w0 == it
1) (A)(IID). (B)-(II). (C)-(IV). (D)-(I)
(2)  (A)II). (B)-(IV). (C)-(I). (D)-(IIT)
(3) (A)AII). (B)-(IV). (C)-(III}, (D)-(I)

4) (A)-(IIT). (B)-(IV). (C)-(I). (D)-(IT)

1[Option ID=19353]
2[Option ID=19354]
3[Option ID=19355]
4[Option ID=19356]

Sl. No.40
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Arrange the following fossil fuels in increasing order of their carbon intensities (gC/N):
(A) Natural gas
(B) Coal

(C) Petroleum
Choose the correct answer from the options given below :

(1) (A)=(C)=(B)

(2) (C)=(A)=(B)
3) (By<={(A)=(0C)

@) A)<=(B)<=(C)

Teferfas Sfremes SeAl (FifeeTre) i STh1 e dtaal % 5G4 U %A § T -

(A)  WrHfaE 1

(B)  =rEem
(C)  uZiferam

= fou o fasedi | © w98 3 w0 T i
(1) A= =D

(2) (C)<=(A) =< (B)

3) (B) < (A) <(C)

4) (A)=(B)= (C)

1[Option ID=19357]
2[Option ID=19358]
3[Option ID=19359]
4[Option ID=19360]
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During the British rule in India who among the following iz accredited with diverting the

attention of the voung Indians from Western education to Oriental education?

(1) DMacaulew
(2) Dalhousie

(3) Annie Besant

(4) Fergusson

A § Toize oA % S e § H TR gE Al e e e | are e i An

(1) HFe

(2)




(3) T

(4) FEIEA

1[Option ID=19361]
2[Option ID=19362]
3[Option ID=19363]
4[Option ID=19364]
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Given below are two statements :

Statement I: Umniversities recognized as Institute of Eminence (IoE) are exempted from
Government approvals for seeking academic collaborations with any foreign
higher education institution.

Statement IT: Universities with the status of IoE have complete Academic/Administrative/
Financial autonomy.

In the Light of the above statements. choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

= = FoH o o B

FoA () :  30FE TETEAT (302 o7 2) T T 0w i Svataaet w R e sew e e o
RIS TEAT 0 % 0 GURE  STHIE o R g2 TH F |

Fo (1) :  3rFE Teonadi (1% o7 3) F o A fAvataaredl = g0 s /ot e wmmEm
TH |

I FUA F TS °, A= 50 70 e § 3 g9 S5 = i

(1) e[ I 3 ILSH oed 2 |
(2) w13 I oAl #1502 |
(3) A [9ea &, ©re = 1L o18ed 7 |

(a) FA 139 2, = o 5T 7

1[Option ID=19365]
2[Option ID=19366]
3[Option ID=19367]
4[Option ID=19368]

Sl. No.43
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Acronym ‘NCVET represents

(1) National Commission for Vocational Education and Training
(2) National Council for Vocational Education and Training
(3) National Council for Vocational Education and Testing

(4) National Commission for Virtual Education and Training




afan wes oA i +f € 7wl W w -

(1) S FHEE B GRS TEHE TS 2

(2) vt FEEE TR AT T TS 2

(3) HYH FEG B AHIAA THHIA U0

(4) THA FHTE FT FHAA THFIE WS 2T

1[Option ID=19369]
2[Option ID=19370]
3[Option ID=19371]
4[Option ID=19372]

Sl. No.44
QBID:1511044

National Education Policy (2020) envisages having a large multidisciplinary higher
education institution in or near every district of the country by the vear

(1) 2025

(2) 2030

(3) 2035

(4) 2040
wdm T Aifa (2020) #, T F vow 9§ W @i oF gE wpfEew 3= e @en f
et Fm o i F o 27

(1) 2025

(2) 2030

(3) 2035

(a) 2040

1[Option ID=19373]
2[Option ID=19374]
3[Option ID=19375]
4[Option ID=19376]

Sl. No.45
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Given below are two statements :

Statement I: Academic Bank of Credit facility 1s meant for credit verification.
accumulation. transfer. redemption and degree authentication with students
ag account holders.

Statement IT : Academic Bank of Credit will be a degree awarding organisation.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true

(2) Both Statement [ and Statement II are false

(3) Statement I 1s true but Statement II 1s false

(4) Statement I is false but Statement II is true




F () :  SHEEF o AS Hise i GAT H a0 AT R ® 9 ° @EieE H Hise Jea,
T, T, TaeF AR fsi v 5 2 )

Fo (II) :  AAFEHF dF 3AF Hise (S TS T4 91 T2 207 |
I F2F F A H, T 50 T EEea 8 1 59 39 W =E Fian
(1) o [ #R I & 7 |

(2) = I 3R I M1 700 2 |

(3) Fua [aca 7, =i %2 I1 37807 2|

(4) FA [ 58T 2, o6 7oA [ 5A 2|

1[Option ID=19377]
2[Option ID=19378]
3[Option ID=19379]
4[Option ID=19380]
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Read the following passage and answer the questions from (46 to 50) :

The wastage of food 1s substantial in every country. but some studies have shown that it 1s
more serious In developing countries. The UNFAQO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that is
needed. but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm. when it moves to the market and 1s processed. stored and
shifted to shops and finally in the kitchen. Many fruits and vegetables perish soon after
harvesting. There 1z a need to lmprove production and storage practices, transport
infrastructure. cold chain systems and processing technmiques. Modern technologies and
better packaging methods are needed. But even in countries where these facilities are
available, wastage 1z high. So. the most important requirement i1s to improve popular
awareness of the need to ensure that fooed i1s not wasted in any form. at any stage. Some
countries have launched a clean plate campaign against wastage of food. It is estimated that
food worth at least Rs. 1 lakh crore 1s wasted in India. and this does not include wastage of
cooked food. A part of that should be enough to feed the large numbers of hungrv people in
the country. which is ranked 94 out of 107 countries in the Global Hunger Index. Food 1s
wasted massively at weddings and on other occasions. The UN report savs that reducing food
waste would also cut green house gas emissions and slow the destruction of nature through
land conversion and pellution. Avoiding food wastage should therefore become a national
mizsion. It will have very positive environmental. social and economic impacts. Let us
remember that millions of families go hungry every day in many parts of the world. In India.
the household food waste estumate 1s 50 kg per capita per vear. which 1s less than the US and
China. But this mav not be because of more efficient use of food. but because overall
availability 1s less.

FrTeTtge 350 1 9E H{E U9 ' 46 9 50 7% F 3 G

eE gW H w1 Fl aeidt sgd AU 2l 2 oA F9 g 4 48 e @ 6 a9 fawmeiier <o oA
aﬂ%ﬁﬁﬁ%wwmvﬁimmmﬁwmﬁﬂﬂ:rﬁvas%éumwi?%ﬁﬁm
fova AEva® 3= F T IO BAT 2 SR w6 WA § o sE) S S FEOn ¥ 39 atad w@
aﬁﬁaq:r@aqwamqmzﬂwamm%.ﬂﬁwmﬁmmq.wm
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The world produces more food. but a large number of people are deprived of it because of

(1) Poor marketing strategies
(2) Multi-point wastage

(3) Traditional farming practices
(4) Transport and storage bottle necks
fava wfus o= =1 3eT3 T2 B, S0RA U 997 5 § o 999 At B, e Fm e 27
(1) FHAN TEI0A T
(2) wEfau-fag @ su= (=)

(3) AT F UNEIRF i TE

(4)




1[Option ID=19381]
2[Option ID=19382]
3[Option ID=19383]
4[Option ID=19384]

Sl. No.47
QBID:1511047

Read the following passage and answer the questions from (46 to 50) :

The wastage of food 1z substantial in every country. but some studies have shown that it 1s
more serious in developing countries. The UNFAO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that 1s
needed. but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm. when it moves to the market and 1s processed. stored and
shifted to shops and finally in the kitchen. Many fruits and vegetables perish soon after
harvesting. There iz a need to improve production and storage practices. transport
infrastructure. cold chain systems and processing techmiques. Modern technologies and
better packaging methods are needed. But even in countries where these facilities are
available, wastage 1= high. So. the most important requirement i1s to lmprove popular
awareness of the need to ensure that fooed is not wasted in any form. at any stage. Some
countries have launched a clean plate campalgn against wastage of food. It is estimated that
food worth at least Rs. 1 lakh crore 1s wasted in India. and this does not include wastage of
cooked food. A part of that should be enough to feed the large numbers of hungry people in
the country. which is ranked 94 out of 107 countries in the Global Hunger Index. Food 1s
wasted massively at weddings and on other occasions. The UN report savs that reducing food
waste would also cut green house gas emissions and slow the destruction of nature through
land conversion and pollution. Avoiding food wastage should therefore become a national
mizsion. It will have verv positive environmental. social and economic impacts. Let us
remember that millions of families go hungry everv day in many parts of the world. In India.
the household food waste estimate 1z 50 kg per capita per vear. which 1s less than the US and
China. But thiz mav not be because of more efficient use of food. but because overall
availability 1s less.
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How can we prevent food wastage?

(1) Through popular awareness
(2) By better packaging methods
(3) With dedicated supply chain system

(4) By delivery of food to the needy
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Read the following passage and answer the questions from (46 to 50) :

The wastage of food 1s substantial in every country. but some studies have shown that it 1s
more serious in developing countries. The UNFAO had estimated that one-third of all
produced food mayv be getting wasted. The world produces twice the amount of food that 1s
needed. but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm. when it moves to the market and 1s processed. stored and
shifted to shops and finally in the kitchen. Many fruits and vegetablez perish soon after
harvesting. There is a need to improve production and storage practices. transport
infrastructure. cold chain systems and processing techniques. Modern technologies and
better packaging methods are needed. But even in countries where these facilities are
available, wastage 1= high. So. the most important requirement i1s to lmprove popular
awareness of the need to ensure that fooed is not wasted in any form. at any stage. Some
countries have launched a clean plate campailgn against wastage of food. It is estimated that
food worth at least Rs. 1 lakh crore 1s wasted in India. and this does not include wastage of
cooked food. A part of that should be enough to feed the large numbers of hungry people in
the countryv. which is ranked 94 out of 107 countries in the Global Hunger Index. Food 1s
wasted massively at weddings and on other occasions. The UN report savs that reducing food
waste would also cut green house gas emissions and slow the destruction of nature through
land conversion and pellution. Avoiding food wastage should therefore become a national
mizsion. It will have verv positive environmental. social and economic impacts. Let us
remember that millions of families go hungry everv day in many parts of the world. In India.
the household food waste estimate 1s 50 kg per capita per yvear. which 1s less than the US and
China. But this mayv not be because of more efficient use of food. but because overall
availability 1s less,
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Preventing food wastage in India will improve its position In

) The FAQ ranking




(2) The World Poverty Index

3) The Global Hunger Index

(4) The Human Development Index
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Read the following passage and answer the questions from (46 to 50) :

The wastage of food 1s substantial in every country. but some studies have shown that it 1s
more serious In developing countries. The UNFAQO had estimated that one-third of all
produced food may be getting wasted. The world produces twice the amount of food that is
needed. but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm. when it moves to the market and 1s processed. stored and
shifted to shops and finally in the kitchen. Many fruits and vegetables perish soon after
harvesting. There 1z a need to lmprove production and storage practices, transport
infrastructure. cold chain systems and processing technmiques. Modern technologies and
better packaging methods are needed. But even in countries where these facilities are
available, wastage 1z high. So. the most important requirement i1s to improve popular
awareness of the need to ensure that fooed i1s not wasted in any form. at any stage. Some
countries have launched a clean plate campaign against wastage of food. It is estimated that
food worth at least Rs. 1 lakh crore 1s wasted in India. and this does not include wastage of
cooked food. A part of that should be enough to feed the large numbers of hungrv people in
the country. which is ranked 94 out of 107 countries in the Global Hunger Index. Food 1s
wasted massively at weddings and on other occasions. The UN report savs that reducing food
waste would also cut green house gas emissions and slow the destruction of nature through
land conversion and pellution. Avoiding food wastage should therefore become a national
mizsion. It will have very positive environmental. social and economic impacts. Let us
remember that millions of families go hungry every day in many parts of the world. In India.
the household food waste estumate 1s 50 kg per capita per vear. which 1s less than the US and
China. But this mav not be because of more efficient use of food. but because overall
availability 1s less.
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The food wastage 1= also responsibe for

(1) Unequal distribution of food

(2) The gap between rich and poor countries
(3) Impact on transport sector

(4) Climate change and pollution
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Read the following passage and answer the questions from (46 to 50) :

The wastage of food 1s substantial in every country. but some studies have shown that it 1s
more serious in developing countries. The UNFAO had estimated that one-third of all
produced food mayv be getting wasted. The world produces twice the amount of food that 1s
needed. but large numbers of people are deprived of it due to wastage and other reasons.
Food gets wasted at the farm. when it moves to the market and 1s processed. stored and
shifted to shops and finally in the kitchen. Many fruits and vegetablez perish soon after
harvesting. There iz a need to improve production and storage practices. transport
infrastructure. cold chain systems and processing techniques. Modern technologies and
better packaging methods are needed. But even in countries where these facilities are
available, wastage 1= high. So. the most important requirement i1s to lmprove popular
awareness of the need to ensure that fooed is not wasted in any form. at any stage. Some
countries have launched a clean plate campalgn against wastage of food. It is estimated that
food worth at least Rs. 1 lakh crore 1s wasted in India. and this does not include wastage of
cooked food. A part of that should be enough to feed the large numbers of hungry people in
the countryv. which is ranked 94 out of 107 countries in the Global Hunger Index. Food 1s
wasted massively at weddings and on other occasions. The UN report savs that reducing food
waste would also cut green house gas emissions and slow the destruction of nature through
land conversion and pollution. Avoiding food wastage should therefore become a national
mizsion. It will have verv positive environmental. social and economic impacts. Let us
remember that millions of families go hungry everv day in many parts of the world. In India.
the household food waste estimate 1s 50 kg per capita per yvear. which 1s less than the US and
China. But this mayv not be because of more efficient use of food. but because overall
availability 1s less.
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The passage suggests that food wastage prevention should become

(1) A movement for modern technologies

(2) A global clean plate campaign

(3) A national mission in India




a4
4 A strategy for equal access to food supply
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Who argued that money spent on improving labour was one of the best investments that

business executives could make?
(1)  Hugo Munsterberg
(2) Elton Mayo
(3) Charles Babbage

(4) Robert Owen
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Which of the following seeks to determine how a corporation should compete in its business?

(1)  Policy
(2) Mission
(3) Vision

(4) Strategy
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According to Herzberg, which of the following is a satisfier?
(1) Job Security
(2) Company policy

(3) Recognition

(4) Working conditions
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Flexible plans that set out general guidelines are:

(1)  Strategic plans

(2) Single use plans
(3) Directional plans
(4) Long term plans
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Talent Management relates to -
Holistic integrated and result oriented process of planning, recruiting, selecting,
developing, managing and compensating exployees.

(2) Result oriented process of manpower planning.




(3)  Holistic and integrated process of recruitment, selection and training.

Result oriented training of employees to sharpen talent to prevent ohsolescence of

(4)

human resource.
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When employees abroad supply services that the company’s own employees previously did in

house, it is known as -
(1) Alternate staffing

(2) Outsourcing

(3) Offshoring

(4) Temporary staffing
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In which of the following systems employvees are paid on the basis of skills and knowledge one

is capable of using rather than for the title of the job currently held?
(1) Broadbanding
(2) Competency based pay

(3) Comparable worth

(4) Experience based pay
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Which of the following is not a direct financial payment to workers?

(A) Wage

(B) Incentive
(C) Commission
Dy Bonus

(E) Insurance
Choose the correct answer from the options given below :

(1) B.Dand E Only
(2) C, and E Only

(3) D Only

(4) EOnly
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In which of the following approaches, MNCs pay less cash and more benefit compensation
package for expatriates?

(1) Cluster System Approach

(2) Buffet Approach

(3)




Bargaining Approach
(4) Global Approach
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‘OCTAPACE' refers to:
(1) H.R.D culture
(2) Human Relations
(3) Human Resource information system

(4) Behaviour Rating
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Which one of the following categories will not come under the HR outsourcing?
(1) Professional Emplover Organization (PEQ)

(2) Business Process Outsourcing (BPO)
(3) Application Service Provider (ASP)

(4) Contract Employees (CE)
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Who among the following said, “Take my physical assets, leave my people, and in five years |
will have it all back™?

(1) Bill Gates

(2)  Rensis Likert

(3) Peter Drucker

(4)  Alfred Sloan
frfafiaa ® @ forea wvar o, "o vifaes ufafal @ @ wwg R @ 6 SIS g1, R U ani | J 98 '
qq: AfSd G ?

(1) fat rem

(2) ifew o

(3) TEFw

(4) TR wIEA

1[Option ID=19445]
2[Option ID=19446]
3[Option ID=19447]
4[Option ID=19448]

Sl. No.63
QBID:551013

Which one of the following represents the moral values that develop on the basis of influence
of role models and other significant persons?

(1) Id
(2) Ego
(3) Esteem

(4) Superego
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2[Option ID=19450]
3[Option ID=19451]
4[Option ID=19452]

Sl. No.64
QBID:551014

Under which one of the following styles, a manager is likely to remark that nothing
significant can ever be done?

(1) Sulking
(2) Withdrawn

(3) Cynical

(4) Overindulgent




Fifra | & Trm Al % o=l EaE g A8 ool R 9 i e Tl & R - #E arde
1 g1 Topan = gt 27

1) et
(2) vEER
(3) e
(4) wf-sAratE

1[Option ID=19453]
2[Option ID=19454]
3[Option ID=19455]
4[Option ID=19456]

Sl. No.65
QBID:551015

Which one of the following relates to a person's self perceived competence and self image?
(1)  Self Esteem
(2) Self Actualisation
(3) Self Efficacy

(4) Self motivation
fenifira § & S U S F AT WIeAii el ST TN S o e 27

(1) =W 99HH

(2)  =oH Fenedi
3) HATCH-YHTEIcdashal

(4) s sifino

1[Option ID=19457]
2[Option ID=19458]
3[Option ID=19459]
4[Option ID=19460]

Sl. No.66
QBID:551016

Who gave the operant conditioning theory?

(1) Edward Tolman

(2) Pavlov & Waston

(3) B.N. Skinner

(4) Albert Bandurg

e -m sgen fagia &1 faues ®iF 917
(1) s deiA

(2) fe siit dea

(3) #m. e

(a) = wga

1[Option ID=19461]
2[Option ID=19462]
3[Option ID=19463]
4[Option ID=19464]

Sl. No.67




QBID:551017
The book ‘“Trade Unionism in the New Society’ was authored by which of the following?
(1) Harold J. Laski

(2) G.D.H. Cole
(3) Sidney and Beatrice Webb

(4) S.D. Punekar
“¥5 i T 2 = aEEd T w5 e Fefatea § 9 feed e
(1) &ues 9. weh
(2) Stdma ==
3) fasi 9 fofem 4=
(4) THEL T

1[Option ID=19465]
2[Option ID=19466]
3[Option ID=19467]
4[Option ID=19468]

Sl. No.68
QBID:551018

Which of the following is not part of the three tier structure of the Joint Consultative
Machinery and Compulsory Arbitration in Govt. Department?

(1) Unit Level
(2) Office/Regional Level

(3) Department Level
(4) National Level

Freprit foum § H5g% wEEenEt a1 S stfEe sereem i Bl duen w etataa § 3 w9 a9 oam
T 27

(1) R E

(2) e/ gt =
(3) Tvmfa =
(4) AR

1[Option ID=19469]
2[Option ID=19470]
3[Option ID=19471]
4[Option ID=19472]

Sl. No.69
QBID:551019

By which convention number of International Labour Organization “Freedom of Association
and Protection of the right to organise” has declared as Fundamental rights?

(1) Convention No. 19
(2) Convention No. 87
(3) Convention No. 98

(4) Convention No. 81

st o w3 Freffaa # & Few s Gen g CHn 9w i da A ¥ s F

gramr’ i Hifers iR gifta R mar ar?
Q) firgma g 19




(2)  fims gem 87
(3) wifyewm g=m vs
(4) i g9 81

1[Option ID=19473]
2[Option ID=19474]
3[Option ID=19475]
4[Option ID=19476]

Sl. No.70
QBID:551020

“Every Class Struggle is a Political Struggle” who said this?

(1) Lenin
(2) Karl Marx
(3) G.D.H. Cole

(4) Fedrick Engele
““yedieh =l wud wsh oo GEd w1 & a8 R wed 87
(1) @fm
(2) =reEEE
(3) SH = ==
(4) WsftE wE

1[Option ID=19477]
2[Option ID=19478]
3[Option ID=19479]
4[Option ID=19480]

Sl. No.71
QBID:551021

In which session of the Indian Labour conference the functions of works Committee was
discussed and approved a list of functions which could be assigned to the works committee
and a list of functions which should not be assigned to the works committee?

(1) 14 Session
(2) 16 Session

(3) 17k Session

(4) 20 Session

A oW T & R e § W el F e W=l g8 ot o uE e i gt W sEe
T e o 5% = wfafa =1 S o1 @ & o T el S o g 5 @ afafa =T 5w oeme?

(1) 1431 A&

(2) 16391 #gETA
(3) 1740 whETE
(4)  20m1 wigET=

1[Option ID=19481]
2[Option ID=19482]
3[Option ID=19483]
4[Option ID=19484]

Sl. No.72
QBID:551022

Under which Section of the Industrial Disputes (Amendment and Miscelloneus Provisions)
Act, 1956, the Central Government is authorized to Constitute the national tribunals?

(1) Section 7




(2) Section TA

(3) Section 7B

(4) Section 10A

Hrenie foam sifatam (dea g whivl su=y) stufam, 1956, i Feafefaa § @ fra am % siE
Fm TTER TgE i nia w0 o w27

1) AT 7
(2)  gmr7A
(3) 4w 7B
(4) HW 10A

1[Option ID=19485]
2[Option ID=19486]
3[Option ID=19487]
4[Option ID=19488]

Sl. No.73
QBID:551023

What shall be the maximum number of members of Grievance Redressal Committee?

(1)  Sixonly
(2) Twelve only

(3) Sixteen only

(4) Twenty only

farerraa T afifa o azei & sifusas gen =17 2ol ?

1) F===

(2) %= awE
(3) %9 HiEE
(4) FEa

1[Option ID=19489]
2[Option ID=19490]
3[Option ID=19491]
4[Option ID=19492]

Sl. No.74
QBID:551024

Which of the following is not a form of Strikes?
(1)  Sit-Down

(2) Pen-Down
(3) Picketing
(4) Wildeat

fr=afefiaa # & <9 91 g=d1a & 0% #9491 87
(1) gt (e =)

(2) wem a7 (T w15)

(3) e (fesfa)

(4) FFE FEAE (IS H2)

1[Option ID=19493]




2[Option ID=19494]
3[Option ID=19495]
4[Option ID=19496]

Sl. No.75
QBID:551025

The ————— was the first Act passed to regulate the industrial relations in India.

(1) Apprentice Act

(2) Factories Act

(3) Bombay Trade Disputes Act

(4) Industrial Disputes Act

Wia | sitenfis gadt & fafee & foe genew ofa st —— o
(1) farg siferfam

(2) =t st

(3) = s feampe sfufm

(4) sfifie faar sfufem

1[Option ID=19497]
2[Option ID=19498]
3[Option ID=19499]
4[Option ID=19500]

Sl. No.76
QBID:551026

How many parts are there in the Schedule of the Child Labour (Prohibition and Regulation)
Act, 19867

1 1
(2 2
3 3
4 *

e oW (Wi i fafeme) sfafm, 1986, #r omest # fe w7

1 1
(2) 2
3 3
4) 4

1[Option ID=19501]
2[Option ID=19502]
3[Option ID=19503]
4[Option ID=19504]

Sl. No.77
QBID:551027

The periods of work of adult workers in a factory each day shall be so fixed that no period
shall exceed ——— hours and that no worker shall work for more than

hours before he has had an interval for rest of at least half an hour.
1) Five, Five

(2) Six, Six
(3) Eight, Eight

(4) Nine, Nine




wF Gt § oTaew #wAnEn f ufn B oFEEty #ow owwn fea e oeom 5o o sEfEy
g2 @ wfgw T @t s wE ol FEEd SEew omd @ smw F sare 4
o2 # Ak T Hm|

(1) "=, T

(2) =%, 38

(3) Hla, HlS

(4) A

1[Option ID=19505]
2[Option ID=19506]
3[Option ID=19507]
4[Option ID=19508]

Sl. No.78
QBID:551028

The Contract Labour (Regulation & Abolition) Act 1970 shall not apply to establishments in

which one of the following?

(1) An intermittent or Casual nature
(2) Permanent Work

(3) Bothl1&2

(4) None of the above

1 = (i sk seme) sfufem, 1970, Fefatas 8 9 fFa @ e 8 g e
(1) IR AYET AR T
(2) =l wE

(3) (1) =i (2) 3w
(4) TWEH Y wE TE

1[Option ID=19509]
2[Option ID=19510]
3[Option ID=19511]
4[Option ID=19512]

SlI. No.79
QBID:551029

How gratuity is calculated for non-seasonable establishment for piece rated employees?

(1) Basic wage % 15 %X No. of Completed yvear of Service
26

@ Last Drawn wages X 7 X No. of Completed Year of Services

26
Basic wages % 15 X No. of Completed vear of Service
(3) 30
Average of last 3 months wages ¥ 15 X No. of Completed Year of Service
(4)

26

it el w1 arel afaeE § AT @ F FeEgl W F a FwHarE & o 3age i Toer w4 A
27

(1)




TS A X 15 X Fa1 % Hf a9 w5

26

ifem wmefa Fegfl x 7 x Ha1 * Tyfia 99 61 gen
26
@) H@ W X 15 x Fa % wyf av i Fen
30
forma 3 wiE % Al @ A X 15 x @91 % @Y a9 H 5
26

(2)

(4)

1[Option ID=19513]
2[Option ID=19514]
3[Option ID=19515]
4[Option ID=19516]

Sl. No.80
QBID:551030

The Pension scheme of employees is financed by diverting.............of.........monthly
contribution from the employees provident fund.

(1) 10.33%, Employer's

(2)  10.33%, Employee’s
(3) 8.33%. Employer’s
(4) 8.33%. Employee's

FH=TEl <kl 9y he w1 faqaie sder wiass fify 8@ 39 arfaes stvem 6
% foper wmar &, SA............. % 2N fean S 2

(1) 10.33%, T
(2)  10.33%, FH=rd
(3) 8.33%, Frmm

(4) B.33%, FHEaH!

1[Option ID=19517]
2[Option ID=19518]
3[Option ID=19519]
4[Option ID=19520]

.............

Sl. No.81
QBID:551031

Under Equal Remuneration Act, 1976, “Same work or work of a similar nature means
required are the same, when performed under similar working conditions

b}’ man or woman.

(1) Skills
(2) Efforts
(3) Responsibilities
(4) All of the above

e s sfafEm, 1976, & @A oAE wE wuE A v R wE W oo} s
T T S TEY YE] Afgel gt oRE ®E = et § w5 e

(1) FHae
(2) w4FH
3) GT'RETEJFI

(4)




TR A

1[Option ID=19521]
2[Option ID=19522]
3[Option ID=19523]
4[Option ID=19524]

Sl. No.82
QBID:551032

Mr. X was terminated by his emplover of the factory to which Payvment of wages Act is
applicable with a reason of non-satisfaction of performance of Mr. X's work. When is the

wages earned by Mr. X till the date of termination need to be paid by the employer?

(1) Before expiry of the second working day from the termination.

(2) Within a month’s time

(3) Within a weak's time

(4) On the tenth day from the termination date.

o wEE 1 G w35 Faedl T 9 39 FHvEn g = T S v s e daees
T B 38 $aelt W gl wam sifutiad @ 1 P g o wrm w5 ga s f o o % am
A A O H A BT

() = Tl F g wE fEw o A

(2) Us wiE & Himw

(3) TUF GHE & Hiw

(1) Fgoae ffa @ 2me fGam w

1[Option ID=19525]
2[Option ID=19526]
3[Option ID=19527]
4[Option ID=19528]

Sl. No.83
QBID:551033

When was the Unorganised Workers Social Security Act enacted?
(1) Year 2007
(2) Year 2008
(3) Year 2009

(4) Year 2010

FFETIGA FHER AT T statEm w8 afufat e

(1) =4 2007

(2) = 2008

(3) = 2009

(4) 42010
1[Option ID=19529]
2[Option ID=19530]

3[Option ID=19531]
4[Option ID=19532]

Sl. No.84
QBID:551034

Which is NOT a Principle of Labour Welfare?
1)




Adequacy of Wages
(2) Efficiency

(3) Responsibility

(4) Placating

F=ifere | & %19 @1 99 e w1 fogh T8 87
(1) e i i

(2) =&
(3) TERE
(4) I

1[Option ID=19533]
2[Option ID=19534]
3[Option ID=19535]
4[Option ID=19536]

Sl. No.85
QBID:551035

Apart from Factories Act, 1948, there exists some Specialised Safety Laws. Which among the
following is NOT a specialised Safety law?

(1) Indian Boilers Act, 1923

(2)  Indian Electricity Act, 1910

(3) The Plantation Labour Act, 1951

(4) Indian Explosives Act, 1884

FrogTn FfatEm, 1948, % swnen, o fGedea e faf §) e 3 8 29 9@ e @
fafer = &7

(1) et srer sfafEm, 1923
(2)  vrefa faga stfafmm, 1910
(3) =T 7 sAfaiEEE, 1951

(4) wwdE FEnes wfuaFm, 1884

1[Option ID=19537]
2[Option ID=19538]
3[Option ID=19539]
4[Option ID=19540]

Sl. No.86
QBID:551036

Which among the following is a correct statement with respect to Social Insurance?
(1) Social Insurance is Fundamentally different from commercial insurance.
(2) Social Insurance and Commercial Insurance are similar.

(3) Government alone pays for social Insurance.

(4) Employees covered under it are not required to contribute.
gtk diar % day § B § § F9 A w5l 2t

(1) =S s A =9 8 arfuf=m & 8 fim g 2

(2) @l diwn i affsres s aqE 26 2

(3) TR FAhell HIATIE SHT =hi Hem@ni &l 2




(4) 3o STAva e =TT F g SEF U o i srayERa 6 B

1[Option ID=19541]
2[Option ID=19542]
3[Option ID=19543]
4[Option ID=19544]

Sl. No.87
QBID:551037

Some Labour Markets, particulary those in which the sellers of labour are represented by a
Union, operate under which one of the following?

(1) Very formal set of rules that partly govern buyer-seller transactions.
(2) An informal environment with no set of formal rules for buyer — seller trnasations.
(3) A very formal set of rules that fully govern buyer-seller transactions.

(4) A formal environment with no set of rules for buyer-seller transactions.

Fo o9 AR, R A T am % ket w wfafafaes %8 g = 8, 38 fefafaa 4 & fees
HH w7

Tamt % TF wEtE HTEE 92 F odH, F Far-Tasal GeEa F1 AN ¥ § Wb w
21

(2) U IO GHE THEE shar-Tashar @eEen & for si=ntis Hadi 0 i de T8 g gl

(1)

(3)  srr-feshan oA =i Pl miEm w0 91 Frml &1 uw st i 92
(4) UF it ofiEs fows shar-faskar deraer i miam we o FeaE = FE d@2 945 2

1[Option ID=19545]
2[Option ID=19546]
3[Option ID=19547]
4[Option ID=19548]

Sl. No.88
QBID:551038

Isoquant has its particular curvature for which one of the following the reasons?

(1) Labour and Capital are imperfect Substitutes.

(2) Labour and Capital are perfect Substitutes.

(3) Capital and technology are perfect Substitute.

(4) Labour and technology are perfect Substitute.
auEwTE #1 7 fafine awar Fafafaa § | fm s 27

(1)  #m A Ol At waETE £

(2)  #m i O T w2

(3) f s iR H@e T

(4)  zm i SR Sy s )

1[Option ID=19549]
2[Option ID=19550]
3[Option ID=19551]
4[Option ID=19552]

Sl. No.89
QBID:551039

Who confirmed after comprehensive study into the supply curve for Labour that “Variations
in the proportion of a city's population in the labour force, that is, its participation rate
appear to be inversely associated with variations in its average income per equivalent male
worker”?

(1) Paul H. Doughlas

&) Allan M. Cartter




(3) John Bates Clark
(4) Clarence D. Long

o Y A9 T o oga steeA % Uy Frefaten § @ fra m ama  gfe i R oam o 9 R
wet i FEE AT w0 e sl gueR uniiEEt s fe aae e wHen sie o A e d
faeiiva: dataa wdia 2 27

(1) oid 9. o™
(2) ueH . FE
(3) = am TS

(4) T

1[Option ID=19553]
2[Option ID=19554]
3[Option ID=19555]
4[Option ID=19556]

Sl. No.90
QBID:551040

When some people are ‘hetween jobs', the unemployment caused is known as which one of the
following?

(1) Disguished Unemployment

(2) Seasonal Unemployment

(3) Frictional Unemployment

(4) Cyclic Unemployment

S F@ @ fga e’ w9 E, 9 g e s sl w1 e A @ e e 8 s s ar

(1) y=ow T
(2) et ST
(3) aivfi RreATH
(4) =i s

1[Option ID=19557]
2[Option ID=19558]
3[Option ID=19559]
4[Option ID=19560]

Sl. No.91
QBID:551041

Arrange the following steps of test validation process in the correct sequence:

(A) Choose the test

(B) Relate the test scores and criteria

(C) Cross validate and revalidate

(D) Administer the test

(E)  Analyse the job and determine predictors

Choose the correct answer from the options given below :
(1) EADBC
(2) B.ACED
3) EABDC
(4 D.B.C AE




fiequT e Siswan & Frfertiaa <o w1 @6t % 3w
(A)  TEw F wE H

(B) e st i ATES H e

(C)  afa i =77 g9 Sefispam w0

(D) & F YA FA AV FA

() =/ = fageo 3 slas-waa s fuife s

Ji fau o el d & w8 39 % =999 Hifag
(1) EADBC
(2) B ACED

3) EABDC

(4) D.B.CAE

1[Option ID=19561]
2[Option ID=19562]
3[Option ID=19563]
4[Option ID=19564]

Sl. No.92
QBID:551042

Which of the following are generally included in the Balanced Scorecard Approach of Control?

(A) Finances
(B) Customers
(C) Internal processes

(D) People and assets

Choose the most appropriate answer from the options given below :

(1) Aand COnly

(2) AandB Only

(3) BandD Only

(4) A B CandD
feram i sicies wRiRE wits & f=fafaa & & fa s o @ e fren s 27
A =
(B) TEE

(C)  ATafER WERa,
(Dy & i g

= Tau o faeedi | 4 w9 39 = T it
(1) F=m As#RC
(2) *=d A#HRB
(3) =w BsiD

(4) F== A B, C#HRD

1[Option ID=19565]
2[Option ID=19566]
3[Option ID=19567]
4[Option ID=19568]

Sl. No.93
QBID:551043




(A)
(B)
(©)
D)

(3)
(4)

(1)
(2)
(3)

(4)

(A)
(B)
(8]
(D) =8 vs == T & o S #2n & siftom &g e 2 21

Which of the following statements are correct regarding ‘mentoring™?

It helps in transfer of knowledge to mentee.
It is good for transmission and sustenance of organisation culture.
It can only be formally organised.

It is an interactive process in which only mentore gives the topic for learning.

Choose the correct answer from the options given below :

(1) Aand D Only
(2) Band C Only

A and B Only

A and C Only

‘FEfer % waw 4 Frfafed 4 8 F9 F O A6 87

g T (ATiES STHEGT) T T % Eeaal 5 g S 2l
5 WS HEHia o HAvT SR gfE & fere I &)
TH e TR B9 ¥ # oniaa R o g 2

Fir feu o faemedi § © wE I 1 =9 T

Fad A D
#ad B3R C
Fad A B

Hae A #iX C

1[Option ID=19569]
2[Option ID=19570]
3[Option ID=19571]
4[Option ID=19572]

(A)
B)
(©)
(D)
(E)

(1)
(2)
(3)

Sl. No.94
QBID:551044

Arrange the following steps of Job Evaluation in ascending order.

Choosing job evaluation committee
Identifying need for job evaluation
Selecting Compensable factors
Identifying benchwork jobs

Ewvaluating worth of each job.

Choose the correct answer from the options given below :

D.B.ACE

AB.C,D E

ABEDC

(4) B.AD,C.E




F14 (Si) qeara & Freferiiaa #eaai ®1 s w4 st i
(A) = oA |fafy &= =
(B) =W graiA i e i TEEE S
(C)  @fegfd = ki 1 =7
(D) =W FE H TFEH
(B) W %M & Jugwwal &1 qeais
fia fau o el § & @ 39 % =9 Fif
(1) D,B.ACE
(2) AB,C,D,E
3) ABEDC
(4 BADCE

1[Option ID=19573]
2[Option ID=19574]
3[Option ID=19575]
4[Option ID=19576]

Sl. No.95
QBID:551045

Arrange the steps of Ranking Method of Job Evaluation in ascending order:

(A) Obtain job information

(B) Compare current pay with what others are paying
(C) Assign a new pay scale

(D) Select jobs and compensable factors

(E) Rank jobs and combine rating

Choose the correct answer from the options given below :
(1) AEDCHBE
(2) DB.C,A E
(3) DABEC
(4) A.D.EBC
Frd e $ e fafa % o = s # safea $ifag
(A) FE % gH § FAHEA OTH
(B)  FaAM Fad i e 1= g i S gt 7 e
(C) o I ERfEe

(D) =@ 3R afafd-=ra s & =91 w1
(E) = =1 T Fglor efin =10 =1 d@diea s

Fie f2u o femei § O wd 3 % =994 difa
(1) AEDCB
(2) D,B.CAE
3) DDABEC

(4) AD.EBC

1[Option ID=19577]
2[Option ID=19578]
3[Option ID=19579]
4[Option ID=19580]




Sl. No.96
QBID:551046

Which of the following relate to Quality Cireles?

(A) Formal organisation
(B) Self-empowered group
() Informal organisation

(D) Venture Team

Choose the correct answer from the options given below :
(1) A BandD Only
(2) A BandC Only
(3) B.CandD Only
(4) A, CandD Only

Frefafiaa § a9 @ FH-F6 GaEE 827

(A sirrenfi de
(B) Ta-w G
(C) st e
(D) et (F=) Fi
=t fm o foaredt @ w@dl s 0 == il

(1) =« A, B#TD
(2) F=e A, B#RC
(3) %a@ B, C shtD
(4) e A, CeRD

1[Option ID=19581]
2[Option ID=19582]
3[Option ID=19583]
4[Option ID=19584]

Sl. No.97
QBID:551047

Which of the followings are Human Resource Accounting models?

(A) Flumholtz model

(B) Morris Model

(C) Lev and Schwartz Model
(D) Ogan’s Model

(E) Adom's Model

Choose the correct answer from the options given below :
(1) A B, DOnly
(2) A C,DOnly
(3) B,C, EOnly
(4) A C EOnly




frfafaa & @ 99 & a9 Ga1ve o wiga 27
(A) v Hisd

(B) =i wisw

(C) ©F 3R vads wigd

(D) 3T = Hiew

(E) TeH 1 HisA

= fae o fasedi § A ot 3 1 =Ea i .
(1) Faa A B3RD

(2) FAF A, C3RD

(3) F=@ B, C s E

(4) F=A A CIRE

1[Option ID=19585]
2[Option ID=19586]
3[Option ID=19587]
4[Option ID=19588]

Sl. No.98
QBID:551048

Which of the following are the individual Stress coping techniques?

(A) Exercise

(B) Relaxation

(C) Behavioural Self control
(D) Irritability

(E) Cognitive therapy

Choose the correct answer from the options given below :

(1) AandB Only
(2) A BandE Only

3) A. B, CandD Only
(4) A.B.CandE Only

fraferfiaa % & = - =afwm w28 § fues & a4+ 27

(A) =Em

(B) @E g

(C) =aen s = g
(D) o

(B)  dsmrcnss fafme

= feu T fawedi 4 & = I 1 =9 it
(1) #H=a A#ERB

(2) %39 A B3iRE

(3) #a= A, B, C3smD

(4) #=e1 A, B, C#rE

1[Option ID=19589]
2[Option ID=19590]
3[Option ID=19591]
4[Option ID=19592]

Sl. No.99
QBID:551049




Which of the following are Human Resouree Accounting Models?

(A) Morse Model
(B) Likert Model
(C) Ogan’s Model
() Regan's Model
(E) Adam's Model

Choose the correct answer from the options given below :
(1) A.B.DOnly
(2) A, C,DOnly
(3) A, B, COnly
(4) A B EOnly
fr=ifra § | =9 ¥ 9Ha "@E1eE SEied wiga 87
(A) i mfEa
B) fo=we uiza
(C) = & Arsd
(D) T = dEw
(E) U=H # Hisd

= feu o faeredi # @ TE 3T 1 994 HIWT

(1) #@ A B D
(2) F=F A CD
(3) @@ A B.C

(4) #ad A B, E

1[Option ID=19593]
2[Option ID=19594]
3[Option ID=19595]
4[Option ID=19596]

Sl. No.100
QBID:551050

What are the main approaches in the area of international compensation with regard to
posting MNCs employees in foriegn countries?

(A) Going Rate Approach
(B) Qualitative Approach
() Combination Approach
(Dy  Balance Sheet Approach

Choose the most appropriate answer from the options given below :
(1) A& BOnly
(2) B & C Only
(3) C&DOnly

(4) A &DOnly




At bl % w1 e § A & ey § srgE At sad e I e | 57

(&)
(B)
(©)
(D)

Waq &
IR I
Ao 39

EERERE I

fr= T o foeel | & TEH ST I 1 =9 i
(1) *ad A B
(2) #aa B#R C

(3) ma C & D

(4) FFFAFRD

1[Option ID=19597]
2[Option ID=19598]
3[Option ID=19599]
4[Option ID=19600]

Sl. No.101
QBID:551051

Which of the following are the ways of determining representative union for the purpose of
Collective Bargaining in India?

V)
(B)
(©)
(D)

Code of conduct
Secret ballot
Check off system

Membersip verification

Choose the correct answer from the options given below :

(1) A&BOnly

(2) C&DOnly

(3) B.C&D Only

(@) A C&D Only

WA | AWl digarst & 3279 g warrg i Faior F fefafae @ wm s s i

(&)
(B)
(©
(D)

A= Efgan
TH HagH
= Nt UG

HEETal e

et fag e foepel & & @8 ST I 1 = Hifa
(1) Faa A B

(2) #aa C#HRD

(3) Haw B.C #D

(4) #HFa A C#HED

1[Option ID=19601]
2[Option ID=19602]
3[Option ID=19603]
4[Option ID=19604]

Sl. No.102
QBID:551052




Which of the following basic factors were outlined by Selig Perlman in his theory of Labour
Movement?

(A) The resistance power of capitalism

(B) The degree of dominance over the labour movement by the intellectuals mentality
(C)  The degree of maturity of a trade union's mentality.

(D)  The degree of Political Struggle of the workers.

Choose the most appropriate answer from the options given below :
(1) A B, COnly
(2) A, C,DOnly

(3) A B DOnly
(4) B.C,DOnly

T 9eiHA 7 5 TR % AT faga | Fefafan ® @ w6 @ i s f s e § 7

(A)  TfEme i i ot

(B) W 3fidieq R gigshfaai it wafaswar F vy $i feh
(C) 2= g it arafdewar #1 uftuswar i faft

(D) FHER * Tt e 6t feht

H= feu o fomeal 9 € wed 3UgH I 99 hifT

(1) Fae A, B, C
(2) F==FA,C.D
(3) #=e A B, D
(4) #=@ B.C.D

1[Option ID=19605]
2[Option ID=19606]
3[Option ID=19607]
4[Option ID=19608]

Sl. No.103
QBID:551053

Which of the following are non-statutory bodies for prevention & Settlement of Industrial
Disputes?

(A) Indian Labour Conference

(B) Standing Labour Committee

(C) Board of Conciliation

() State Labour Advisory Boards

(E) Court of Inquiry

Choose the correct answer from the options given below :

(1) A, B.COnly
(2) A, B, D Only

(3) B.C, E Only
(@) C.D.E Only




sAteifiver Tl = Fame o gaam &g Fefatas @ @ sE-=6 8 i ettt e §1
(A)  HRARE 99 g

(B) vl aw \fufq

(C) oo =S

(D) U9 49 TATESN 9%

(E) == =g

Fi feu o faemedi 6 € | I 1 =9 it
(1) %aa A, B#HRC
(2) %= A, Ba#RD
(3) #F@ B. CIRE

(4) %99 C,D 3 E

1[Option ID=19609]
2[Option ID=19610]
3[Option ID=19611]
4[Option ID=19612]

Sl. No.104
QBID:551054

Which of the following are the autonomous organisations of Labour Ministry?

(A) Employee’s State Insurance Corporation
(B) Central Board for Workers' Education
(C) The Directorate General of Mines Safety
(D) V.V. Giri National Labour Institute.

Choose the correct answer from the options given below :
(1) AandB Only
(2) Band C Only
(3) A B, DOnly
(4) B, C,DOnly
frfafaa § % % & w1eq oW F=e & =Ed §6d 87
(A) == = A fm
(B) i . firem i

(€)@ g Haiee
(Dy i il ol e wEem

= fou e foemedt ® @ Wt 3 = Fif
(1) ae A B
(2) #== BawC
(3) #F==@ A, B3RD
(4) Fa@ B, C #D

1[Option ID=19613]
2[Option ID=19614]
3[Option ID=19615]
4[Option ID=19616]

Sl. No.105
QBID:551055




Given below are the names of Indian Trade Unions/Associations. Arrange the sequence of
their establishment year from earlier to later.

(A) Hind Mazdoor Sabha

(B) Madras Labour Union

() Indian National Trade Union Congress
(D Self Employed Women's Association
(E) Hindustan Mazdoor Sevak Sangh

Choose the correct answer from the options given below :
1) AECDB
(2) C,ADEB
(3) B,E.C,AD
4) E,CDAB
4= Wi ¥ gREEl/EeeE % AW Bu T f) 3% 9 NN F F6 A UEe A AR a A%
HETFAAR = tegd Fif:
&) e awgaa
(B) v T
() e T I 9fee wim
(D)  @e% TS diHE THIEEE
(B) Tegwm faam d= =g
= fau o et © @ wE 39 @ 9w i
1) AECDB
(2) CADERB
3) B.E.CAD

(4) E.C.D.AB

1[Option ID=19617]
2[Option ID=19618]
3[Option ID=19619]
4[Option ID=19620]

Sl. No.106
QBID:551056

The Acts belonging to the category of protective legislation are:

(A) Factories Act, 1948

(B) Contract Labour (Regulation and Abolition) Act, 1970
(C) Trade Union Act, 1926

(D) Industrial Disputes Act, 1947

Choose the most appropriate answer from the options given below :

(1) A, BandC Only
(2) Aand B Only
(3) CandD Only
(4) A.BandD Only




Ta gad) faam 6 ool & stfafEm 8

(A)  =mErn wtafEm, 1948

(B) owrem (FFme st semea) sifatEm, 1970
(C) =9mn @y wiutEE, 1926

(D)  sArifies fEe AtafEm, 1947

Hrer fou u fapedi & & w8 I9gE I 1 =E difa
(1) e A, B#HRC
(2) #ad A#HRB

(3) F=w C & D

(4) #=@ A BInD

1[Option ID=19621]
2[Option ID=19622]
3[Option ID=19623]
4[Option ID=19624]

Sl. No.107
QBID:551057

Licences of contractors under the Inter-State Migrant workmen (Regulation of Employment
and Condition of Service) Act, 1979 may be revoked under which of the following of
situations?

(A) Obtained by misepresentation or suppression of any material fact.

(B) Without reasonable cause, failed to comply with the conditions subject to which the
licence has been granted.

(C) Contravened any of the provisions of the Act.

(Dy  After receiving an application from the contractors

Choose the most appropriate answer from the options given below :

(1) A BandC Only
(2) B.CandD Only
(3) CandD Only

(4) AandB Only

ofeErrai=l #1 ©Eaa H-Tsag gEE wHen (FEeE ot d9 wd W i) wfufEm, 1979, &
i Freferas = gmmen 4 wfagen FFn o1 o 87

(A)  Tordt gundiuer den o et fEgw stgEn 34 TeuE w9 E W

(B) o ek o o wgeia Wil e S wee I s F § EEe g8 W
(C)  wifufam & fpedi Iuadl 1 stfeeied 4 m

(D) =l 8§ 37TEeA 7 9 % e

fre fou o foeredt © & Ae S I 1 = i
(1) F@@ A Bl
(2) FEB.C3RD
(3) FFw C 3D
(4) =@ AsB

1[Option ID=19625]
2[Option ID=19626]
3[Option ID=19627]
4[Option ID=19628]

Sl. No.108
QBID:551058




Which of the following are the methods of fixing and revising minimum wages under the
Minimum Wages Act, 19487

(A) Committee method
(B) Notification method
(C) Wage Board

(10)) Collective Bargaining

Choose the most appropriate answer from the options given below :
(1) A B,CandD Only

(2) Cand D Only

(3) A, C,and D Only

(4) AandB Only

= wergll aifafEm, 1948 % o1efiA =man gegll foa w o 39 e it e @ S
farferat 7

(A)  mfufa fafa
(B) st fafy

(©) =gl aE
(D)  wmfEs Heamsh

frel fou o fomredi ® ° Ted 39T IT H =99 T ¢

(1) FE A B C3#RD
(2) = C#HRD
(3) WA= A, C#LD

(4) a9 A @B

1[Option ID=19629]
2[Option ID=19630]
3[Option ID=19631]
4[Option ID=19632]

Sl. No.109
QBID:551059

Which of the following situations, as per The Employees Provident Fund and Miscellaneous
Provision Act, 1952, allow for full withdrawal of provident fund amount?

(A) Death
(B) Superannuation
(C) Retrenchment

(D) Construction of house

Choose the correct answer from the options given below :

(1) A CandD Only
(2) A, BandC Only
(3) AandB Only

(4) A,B.C, and D Only




gl wfasy ffy ot wehinf 3usy sifufm, 1952, % wgER F=ifea 4 @ fma feafoat | wigsafafy &
gfar 1 qof ferreft i srgmfa 27

@A) T

(B)  eifafdan
(C) e ¥ el
(D)  wa wfzmio

f2u U faeredl # € W& I w1 =T HIR

(1) HFad A, CsRD
(2) FFAA BsRC
(3) FaEA#HRB
(4) Fa@A B, C&RD

1[Option ID=19633]
2[Option ID=19634]
3[Option ID=19635]
4[Option ID=19636]

SI. No.110
QBID:551060

Wage-periods under The Payment of Wages Act, 1936, can be:

(A) 7 days
(B) 15 days
() 30 days

(D) 45 days

Choose the correct answer from the options given below :

(1) Band C Only
(2) AandB Only
(3) B.CandD Only

(4) A, BandC Only

Al HEA siatEm, 1936 F e wuglt H @ty & a8

A  1fm
(B) 15 &=
(C) 3o0f@
O 45
feu mu famedl § € 98 I % 994 difau

(1) FHa=a B#n C
(2) FEAFTAFRB
(3) FAB,C3mD
(4) FagA B C
1[Option ID=19637]
2[Option ID=19638]

3[Option ID=19639]
4[Option ID=19640]

Sl. No.111
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Central Government may formulate and notify which suitable welfare schemes for workers
under Unorganised Social Security Act, 2008?

(1) A BandC Only

(2) A. CandD Only

(3) A, BandD Only

(4) B, CandD Only

TG FHER AT mEm sfatEm, 2008, ® I F TR FHEA 6 FEE w6 d@ 399E
FEAOTERAT A F1 A w3 aiftfm w o 27

(A) e i frarma sEm

(B)  TIoFIR HTE ST

(C) e i v s

(D)  FgEEq TEm

fam o fywedt § & w8 3w =7 Fifw
(1) == A, B, #C
(2) FAA, C3TD

(3) FaAA B3RD
(4) %A= B, C#HRD

1[Option ID=19641]
2[Option ID=19642]
3[Option ID=19643]
4[Option ID=19644]

Sl. No.112
QBID:551062

Under which Sections of the Factories Act, 1948 as ammended, a member the State
Government is empowered to constitute a Site Appraisal Committee to examine a factory

involving hazardous process?

(A) Section 41 A (1)
(B) Section 41A

() Section 41A (2-4)
() Section 41A (5)
(E) Section 41 B and C

Choose the most appropriaie answer from the options given below :

(1) AandB Only
(2) AandC Only
(3) CandD Only
(4) BandE Only




FrErn wifafEm, 1948, gumsnfem 6t 1 gwett & sefim o9 FEm § gaEs e i g2 g,
TS TR & 6! 9 w0 & fore, wonfaes geamr afafa 1 1 w0 6 oifd am 27

(A) =m41A (1)
(B) am41A

(C) 9w 41A (2-4)
(D) =R 41A (5)

(E) wmr41BaWtC

fau Tu faehedi & ¥ ToE 39 I 1 9 I

(1) #aEd A#RB
(2) FEAAFC
(3) F@ACIHRD
(4) Fa@ B3RE

1[Option ID=19645]
2[Option ID=19646]
3[Option ID=19647]
4[Option ID=19648]

Sl. No.113
QBID:551063

In case of Labour, the Demand Curve illustrates which of the following?

(A) At each possible wage rate, the maximum quantity of labour an employer would be
willing to employ per period of time.

(B) At each possible wage rate, the minimum quantity of Labour as emplover would he
willing to employ per period of time.

() At each possible wage rate, quantity of Labour an employer would be willing to
employ.

(Dy  For each possible quantity of Labour, the maximum wage rate at which the emplover
would be willing to employ that particular quantity.

(E) The Maximum quantity of Labour an employer would employ.
Choose the most appropriate answer from the options given below :
(1) Aand B Only

(2) Aand C Only

(3) AandD Only

(4) Band C Only

o] o HIHE H AT 9sh Heiefiad ° Fa wegfiie s 27
(A)  werE 89E wegl @ W, Fe freres g oft sty Feifia 6 s e el st A
&

(B) werE w9 vag 3w, e Freies g ufa wemats Feifa o ase ad afiwl =g
=

(C)  wers ave aagh @ W, Fdt P g Pas 1 o o 3t afast $i e

(D) =fiewt 1 veE Bva gem w1, T fees g 3% fam e & feee & fou veg sfasae
gl 2t

(B) Tt Forors 2m faifem =t g aelt afierr 1 sifieram g=n

fou o famcdi § & g 39T ST H =99 Hif




(1) #*aa A& B
(2) #FEEAHATC
(3) FaAASRD

(4) Haa B#R C

1[Option ID=19649]
2[Option ID=19650]
3[Option ID=19651]
4[Option ID=19652]

Sl. No.114
QBID:551064

Which are not determinants of Supply of labour among the following?

(A) Preference for work versus leisure.
(B) Prices of other inputs

Q) Other wage rates
(D)  Number of Qualified Supplier
(E) Number of firms

Choose the most appropriate answer from the options given below :
(1) AandB Only

(2) AandC Only

(3) BandD Only

(4) Band E Only
fFferfian & & o= smafd = w-= F faeies T8 727

(A) = 9 sEwE gy Il T S S HiEd

(B) =1 "raHi =i e

(C) == weigl =t
(D) =@ syfdwat
(E) 41 =i 5E

fou 7 foeredt & & |9E 39w I I 994 fif
(1) Faa AsRB
(2) #FAAFRC
(3) #F=EBRD
(4) FFEABRE

1[Option ID=19653]
2[Option ID=19654]
3[Option ID=19655]
4[Option ID=19656]

Sl. No.115
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The market demand for Labour and the market supply o Labour jointly determine which of

the following?

(&)
(B)
(©)
(D)

An equilibrium level of wage rate
The maximum level of wage rate
An equilibrium level of employment

The minimum level of employment

Choose the most appropriate answer from the options given below :

(1)
(2)
3)

A and B Only

B and C Only
A and C Only

(4) CandD Only

7% i A =7 A 49 i Ao Safd g1 agw w9 8 featafas § & s Ayt s 2

(&)
(B)
(©)

(D)

G T HT HIATRH] FH
"G W H A T
TISATR. T Hesil =1
TSR 1 =dH &R

fau o faredi § & 5o I7g I W 99 fif

(1) et AsB
(2) FaaBaRC
(3) #EmA#HRC
(4) F=FaC#RD

1[Option ID=19657]
2[Option ID=19658]
3[Option ID=19659]
4[Option ID=19660]

Sl. No.116
QBID:551066

Given below are two statements :

Statement [ : In a Matrix Organisation, specialists from different functional

departments work on projects that are led by a project manager.

Statement 11 : One unigue aspect of Matrix organization is that it creates a unity of

command managers coordinate and resolve conflicts.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1)

Both Statement I and Statement IT are correct

(2) Both Statement [ and Statement I are incorreet

(3) Statement I is correct but Statement IT is incorrect

(4) Statement I is incorrect but Statement II is correct




= 51 o g o E

g 1: Tt v AR gnea § fafim wewmiess fae @ e o o@Dl o s ww @ e
e ST weY R E

o [1:  Afaa 63 &1 T 31 U4 9% Bl & 1 98 g7 G99 SN §HIH % 10 FHH TEuh &

ElE Rl

FeTE HAT 2

I FeH F S §, A9 B T e § § g9 IUET I 6 99 i

(1) e 1 i 11 3T we &

(2) F=F 13k A

o &

(3) T 154 2, o %o 11 7o &

(4) @A 17 &, et e [ & 2

1[Option ID=19661]
2[Option ID=19662]
3[Option ID=19663]
4[Option ID=19664]

Sl. No.117
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Match List I with List IT :

List I

(A) Intelligence Test
(B) Personality Test

(C) Interest Test

(D) Achievement Test

List I1

() Preferred Occupation

(II) Memory and Vocabulary

(IIl) Job knowledge

(IV) Emotional Stability and Agreeableness

Choose the correct answer from the options given below :

1) (A)-(IV), (B)-(1ID), (C)-(I). (D)-(IDy

(2) (A)-In, (B)-(IV)

. (C)-(I), (D)-(110)

(3) (A1), (B)-(ID), (C)-(I1I), (D)-(IV)

(4) (A)-(IV), (B)-(III

), (C)-(IT), (D)-(T)

T=ft- 1% |y =1 - 11 faem $if

(A =iz oo

T=t-1

(B) =aftrea wiigm
(0) =l wigo
(D) Suer=sr wiigm

= fou mu faeedt § @ Od 3 1 95 i

(1) (A)-(TV), (B)-(ILT), (C)-(D), (D)-(IT)

(2)  (A)- A1), (B)-(IV), (C)-(I), (D)-(L1T)

(3) (A, (B)-), (

C)-(HI), (D)-(IV)

(4) (A)-(IV), (B)-(IID), (C)-(IL), (D)}-(D)

1[Option ID=19665]
2[Option ID=19666]
3[Option ID=19667]
4[Option ID=19668]

-1

() wwEe e

(I =0 i wegEfa (=)
(L) = % dee | 99

(IV) TaTenss Tenfieg i aemfy

SlI. No.118
QBID:551068




Match List I with List IT :
List I

Types of Corporations
(A) International Corporation

(B) Multinational Corporation

(C) Transnational Corporation

(D) Global Corporation

@

(1n

List IT
Appropriate Meaning

Subsidiaries operating as stand alone
businesses in multiple countries.

Specialised facilities and Complex
coordination  mechanism  provides
global integration

(III) Viewing world as a single marked and

(Iv)

operations controlled centrally from
corporate office.
Domestic firm using existing

capabilities to expand into foreign
market.

Choose the correct answer from the options given below :

(1) (A, (B)-(T), (C)-(II), (D)-(IV)
(2) (A)-IV), (B)-(D). (C)-(ID), (D)-(1ID
(3) (A)-(D). (B)-(L), (C)-(ID), (D)-(IV)
(4) (A)-(IV), (B)-(ID), (C}-(D), (D)-(1D)

geft-1 % | <1 gh-11 frem Aifve

T=HI-1
frmt & ger
(A) FAAvE e
(B) wgufga fm
(C) urefia fm

(D) dfvas fm

@
(D) fosrfiera glauw kv wfear au=g @@ fvaw
(11I) fova =t Tehet 99K o &9 ® @1 3R FHMe

FEted ¥ FoE w9 @ fEfta s
(IV) foremm w1 W@ H9 g we W OGN

T I1
I a1l

TERS HUHTT THIYE 290 °§ a3 N H

@ 2

TTRoT T8 T 2|

fersft seiR & Ty

dr= feu 1o faweai § O wE 39 @ =wa i

(1) (A)-(1T), (B)-(D), (C)-(I1L), (D)-(IV)
(2) (A)-(IV), (B)-(D), (C)-(ID), (D)~(LIT)
(3) (A1), (B)-(IL), (C)-(111), (D)-(IV)
(@) Q-aV), (B)-(IID), (C)-(D), (D)-(ID)
1[Option ID=19669]
2[Option ID=19670]

3[Option ID=19671]
4[Option ID=19672]

Sl. No.119
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Match List I with List II : Given below the theory of Leadership in Lis-I and its Propounder in
List-II

List I List IT
(A) Managerial Grid Theory (I) Mecgreagor
(B) X andY Theory (I} Fred E. Fielder
(C) Path-Goal Theory (III) Robert R. Blake
(D) Contingency Theory (IV) Martin G. Evans

Choose the correct answer from the options given below :

(1) (A1), (B)-(I), (C)-(IV), (D)-(ID

(2)  (A)-(IT), (B)-(I1I), (C)-(D), (D)-(IV)
(3) (A)-(IV). (B)-(D), (C)-(ID), (D)-(11D
(4) (M), (B)-(IV), (C)-(1T), (D)-(I1L)

gei-1 % |ma &1 g1-11 fem i

-1 11
(A) wewhE s fagm () wmAHL W
(B) uwa i =% fagia (ID) s §. et
(C) wa-wew fagma (Ill) if=wE #R. =%
(D)  siEEa fagm (IV) wifea o, v
= fou o et | O o I = i

(1) (A)-(IID), (B)-(D), (C)-(IV), (D)-(1D)
(2) (A)-(ID), (B)-(I1I), (C)-(1), (D)-(IV)
(3) (W)-(IV), (B)-(I), (C)(IT), (D)-(I1T)
(4) (A)-(0). (B)-AV), (C)-(ID, (D)-(11D

1[Option ID=19673]
2[Option ID=19674]
3[Option ID=19675]
4[Option ID=19676]

Sl. No.120
QBID:551070

Mateh List I with List IT : Given below four Sub-Process as of Collective Bargaining
Negotiations argued by Waltone & Me Karsie.

List I List 11
Sub Process of Bargaining Meaning
(A) Distributive Bargaining (I)  Involves those aspects of negotiation in which
one side’s gain is the other side’s loss. It is
win-lose.
(B) Intergrative Bargaining (IT)y When there are differant goals or preferences
of either side (union or management).
(C) Intra-organisational (IIT) Issues and process in which a solution
Bargaining provides gains to both labour and
management leading to join gain or win-win
bargaining.
(I Attitudinal Structuring (IV) Negotiations often involve a lot of

uncertainity. Uncertainity arises from the
difficulties the parties face in anticipating
how much strikes power they posses and the
complication involved in interpreting each
other intentions.

Choose the correct answer from the options given below :

(1) (A}, (B)-(ID), (C)-(I1D), (D)-(IV)
(2)  (A)-I), (B)-(IIL), (C)-(ID), (D)-(IV)
(3) (A)-(ID), (B)-(I1L), (C)-IV), (D)-(D)
(4) (A)(IID, (B)-AD), (C)-(D), (D)-(IV)




-1 % \rg %1 g-11 frem fifa

-1 11
izt 1 39 e
(A)  Faam dgd (I) w54 =l % 3 9z mide & f59 o9& 1 s o0 e
1 g &1 78 Fa-gn &
(B) wHmReH HEmEel (I) = Ffaa it vaem & fie firg @e ot mafan #)
(C) 3@ wimshiE HEE (IIT) %@ 52 ik whram o aftet ofR wea=i a1 & forg
AT SR E, W o g, 21 val e A
(D) sfiEfs g Fui (IV) =rteii # wgen siffesman gt §1 3 stffesman g=1 vt

AT AT T N GEHEE T R T Fadt B & s
it 2 R uw g A W o = W e aad
FAfeedr & FH0 Bl 2

S fau e el © € w8 3 1 = Hi
(1)  (A)(D), (B)-(IT), (C)-(T1T), (D)-(IV)
(2) (A)-(D), (B)-(ILD), (C)-(ID), (D)-(IV)
(3) (A)-(ID), (B)-(I1L), (C)-(IV), (D)-(T)

(4) (A1), (B)-(1D). (C)-(D), (D)-(IV)

1[Option ID=19677]
2[Option ID=19678]
3[Option ID=19679]
4[Option ID=19680]

Sl. No.121
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Match List I with List II : Given below are the negotiation result in List-I and their
appropriate meaning in List-1T

List 1 List 11
Negotion Result Appropriate Meaning
{A) Win-lose (I) Both parties get what they want the
parties believe in mutual gain.
(B) Lose-Win (II) Both parties lose or donot get what

they want and reflect an attitude of
take it or leave it.

{C) Lose-Lose {I1I} The negotioning parties think that
wining is every thing or winning is the
only thing.

(D) Win-Win (IV) One party achieves most and the other

party loses or gain very little.
Choose the correct answer from the options given below :

(1) (Q)-(1), (B)-(V), (O)-AD, D)-D)
(2) (A)-), (B)-(I1D), (C)-(D. (D)-(V)

(3)  (A)-1D, (B)-(D), (C)-(AV). (D)-(D)
() (A)-QV), (B)-(I1), (C)-(D), D)-(D)

T=A-1 % w1 gEt-11 frem ife

-1 11
1Al qiers TgfE o
(a) fa-gm () =F 98 S e § 3% e W g, 2EuE
qrEafeE oy | foram = 2
(B) Em-¥a (II) 2 9 ¥ T 8 & T A A 9 & 98
3% 76 foemn & ok 7w wifimfy faed ot 2
T =R # sveEr 2 91
() BR-ER (IIT) =rir sell < 7 & o o f sv 59 2
e Std # U Wi =i 8l
(D) Sfia-a (IV) ©% e #1 Sfawaw W6 g @ 3R g9

B ST ¢ A1 36 FgA FH A Fr1 81

F= fou o fameai ® @ w2 3 = 9w Fif
(1)




(A)-(I11), (B)-(IV), (O)-(1D), (D)-(D)
(2) (A)-(ID), (B)-(I1D), (C)-(1), (D)-(IV)
(3) (A)-(ITD), (B)-(IT), (C)-(IV), (D)-(D)
(4) (A)-IV), (B)-(II0), (C)-(1D), (D)-(T)

1[Option ID=19681]
2[Option ID=19682]
3[Option ID=19683]
4[Option ID=19684]

Sl. No.122
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Match List I with List II :

List I
Acts
(A) The Factories Act

(B) The Inter-State Migrant Workmen
(Regulation of employement and
conditions of services) Act.

(C) The Contract Labour (Regulation and
Abolition) Act

(D) The child Labour (Prohibition and
Regulation) Act

0
(I

(III)

(Iv)

List II

Years of enactment
1986

1970

1979

1948

Choose the correct answer from the options given below :

(1) (A)-aV), (B)-(I1D), (C)-(11), (D)-(D)
(2)  (A)-IV). (B)-(ID), (O)-(T), (D)-(I1T)
(3) (A)-(IV), (B)-(IID), (C)-(T). (D)-(IT)
(4) (A)-(D), (B)-(D), (C)-(I1D). (D)-(IV)

-1 % |ra =1 g=A-11 e Hifa

-1
wHietm
(A)  wrEE sty

(B) sl vamd whesn (Feem = fafam

3 T ) sfafEm
(C) oo om (Fafame =i soame) sifatem
(D) =mers am (wfeny s ffemm) sfatem

drar o o, Ferped & & @6l 39 1 =9 il
(1) (A)-(IV), (B)-(I1I), (C)-(1D), (D)-(I)
(2) (A)-(IV), (B)-(I0), (C)-(D), (D)-(11T)
(3)  (A)(IV), (B)-(ILI), (C)-(D), (D)-(1D)
(4) (A)II), (B)-(D, (C)-(I1I), (D)-(IV)

1[Option ID=19685]
2[Option ID=19686]
3[Option ID=19687]
4[Option ID=19688]

@D
(1))

1T
syfafam ad
1986

1970

(IID) 1979
(IV) 1948

Sl. No.123
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Match List I with List IT :

List I List IT

(A) The Payment of Bonus Act, 1965 () To remove the suffering of section of
the society.

(B) The Payment of Wages Act, 1936 (II) To develop the sense of belongingness
among employees

(C) The Minimum Wages Act, 1948 (I1I) Equal pay for both men and women

(D) The Equal Remuneration Act, 1976 (IV) To ensure regular and timely payment
of wages.

Choose the correct answer from the options given below :
(1) (A)-(IID), (B)-(TD), (C)-IV), (D)-(IT)
(2) (A)-D), (B)-(ITD), (C)-(IV), (D)-(1L)

(3) (A)II), (B)-(IV), (C)-(I), (D)-(I1T)
(4) (A)-(IV), (B)-(IL), (C)-(T), (D)-(1IT)

HT-1 % @79 =1 -11 fem it

-1 Tfi-11
(A) =HE HeE wigEEE, 1965 () &%= % 3 F g H E
(B) gl Ham wfafam, 1936 (I) A=A H ATeHTEdT 1 WiE 3eqe 1
(C) = Aeglt wfafam, 1948 (TIT) 959 iR wigend ZH & fore aam o)
(D) =wm Wi sifafm, 1976 (V) woght & Frafm st @ w dEe
gffeaa wEm
F= feu 7o fammedi § & ®E I 1 =94 it

(1) (A)-(I1D), (B)-(D), (C)-(IV), (D)-(1T)
(2) (A)-(D), (B)-(II), (C)-(IV), (D)-(ID

(3)  (A)-ID), (B)-(IV), (C)-(T), (D)-(I1T)
(4) (A)-IV). (B)-(ID, (C)-(D), (D)-(11D

1[Option ID=19689]
2[Option ID=19690]
3[Option ID=19691]
4[Option ID=19692]

Sl. No.124
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Given below are two statements :

Statement [ :  The origin of Labour Welfare activity in India goes back to 1837 when,
following the abolition of Slavery in 1833, the British colonies started
importing Indian Labour

Statement [T :  Labour welfare activities were hardly controlled by legislation during
pre-independence period.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement [ is false but Statement II is true




A= 2t wom fRu g

Faa 1 ZEEe S9EE 1833 % g fafew sufewi gr vnet afie 1 s o 81 W W § om
FEA-FREATT F T5H 1837 § FA

FoA I1: a0 ° 0@ 6 5= § A Feaw g6 SEEeT aEg w6 w6 Fam § fEtm e a9
IR HIH & Aedlw |, A 2o EEed # F ad 3 w1 9w i

(1) o= 1 &K 112 & 7
(2) oA 1 3 11 2HT o159 2
(3) F99 157 &, o %99 [ 3733 2

() =z | s 2, Afe =99 (184 2

1[Option ID=19693]
2[Option ID=19694]
3[Option ID=19695]
4[Option ID=19696]

Sl. No.125
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Match List I with List II :
List I List 11
Propounders Theory of wages
(A) John Davidson () Marginal Productivity Theory
(B) John Clark & Hennry Wicksteed (II) Subsistance Theory
(C) David Ricardo (III) Wage Fund Theory
(D) Adam Smith (IV) Bargaining Theory

Choose the correct answer from the options given below :
(1) (A)-IV), (B)-(IID), (O)-(D), (D)D)

(2) (A)-(D). (B)-(I), (C)-(IID), (D)-(IV)

(3) (A)-IV), (B)-(I), (C)-(I), (D)-(IID)

(4) (A)-(D), (B)-@IV), (O)-(IT), (D)-(I1T)

gefi-1 % |y %1 qA-11 feam fifa

i1 T=h-11

s il 1 fegia
(8) = 3z () Hwia seagea fagia
(B) =4 w1k 3 &1 faaes (I ez fagm
(C) 3fis foprst (1) =gt fofia fergmer
(D) vEw fe (IV) g g
Fier Teu T faemeti & © |E I 0 99 it

(1) (A)-(IV), (B)-(IID), (C)«(1D), (D)-(D)
(2) (A)(D), (B)-AD), (C)-(11IL), (D)-(IV)
(3) (A)-IV), (B)-(D), (C)-(11), (D)-(I1L)
(4) (A)-(D), (B)-(IV), (C)-(ID), (D)-(11T)
1[Option ID=19697]
2[Option ID=19698]

3[Option ID=19699]
4[Option ID=19700]

SI. No.126
QBID:551076




Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  Henri Fayol was of the opinion that organizations should be based on group

ethic rather than individuals

Reasons (R) @ Individual potential remains only potential until released through group

assoclation

In the light of the above statements, choose the correct answer from the options given

below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

= E"f Exc) ﬁ'Q'-'T[{ % : T st (Assertion (A)) F w7 | foifiam % Gl | IHF FE (Reasons (R))
FETH

AfFT (A) - T EEE F OAE 91 R a1 =l T W ugg s W osnria g
=tEu)

I (R) =Afth I AU 79 a%F A GHEAAl 6 WAl § o A% (6 98 THE a6g & A o
e 7 et

IYTIh H9A & Hels 1, A4 By o Eewedl § 8 g8 3 1 999 wifan

(1) (A) st (R) 3T w3 § 3R (R), (A) i w8 =aw=n 2

(2) (A) 3R (R) 31 =0 &, @ (R), (A) Fi wd =awen 72 2

(3) (A= &, wif (R) 584 2
(4) (AT, df (R) a8

1[Option ID=19701]
2[Option ID=19702]
3[Option ID=19703]
4[Option ID=19704]

Sl. No.127
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(Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) @ In modern times, there is an increase in the number of ‘On-demad’ workers.
These workers can choose when to work, on what to work and how much to
work.

Reasons (R) : The major worry about ‘on-demand’ workers is not just about the benefits

they receive but about a lack of agency — a future in which computers,

rather than humans determine about what vou do, when and for how much.

In the light of the above statements, choose the most appropriate answer from the options

given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) {A) 1s correct but (R) 1s not correct




(4) (A)is not correct but (R) is correct

F= 31 == o o £ v s (Assertion (A))%wﬁﬁ%a%?h@nw%w {Reasons (R))

%F\qﬁ:

At (A) - P FIE H, T W wHER I HEn A 5 R A FER AR A A
T FIH i, FA1 FH L AT AT HH

F (R) : M W FEER] F AR H THE e 9 3% 9 B At sgees f8 TE g 9
o Ut oo s T sfes i off @ s g i s Fepe Fuife = w d
T = %@ B, % Fm S SR g

I FUA F A #, 5y T fawedi #§ § gem 3ugE 3w = Fif

(1) (A) 3 (R) 21 & & 3R (R), (A) i & =wen &
(2) (&) 3R (R) 3 @ €, e (R), (A) i 7 =men 7@ 2
(3) (A)= &, @A (R) €1 7 2

(4) (M) = 7 2, a9 (R) 7 &

1[Option ID=19705]
2[Option ID=19706]
3[Option ID=19707]
4[Option ID=19708]

Sl. No.128
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Arrange the following steps of organisational change in the correct sequence from the first to
the last:

(A) Action Proposal

(B) Implementation

(C) Initiation

(D) Deliberation

(E) Diagonsis

Choose the correct answer from the options given below :
(1) (E). (B), (C), (D), (&)
(2) (B), (0), (D), (B), (&)
(3) (C). (B, (D), (A). (B)

@ @ ®),E), D). )
TSR IfEA % Frefias #2610 # 790 § F #= S0 0% g8 o ° e i

() waEn (EEE) e

(B) fwa=m

(C) =mw

(D)  fo=m fomst

D) e

= fau mu foehedt & & @l I 1 = A0

(1) (E). B), (C). D), (A)
(2) (B).(C), (D). (E), (A)

(3) (C). (E), (D), (V). (B)




) (), @), (E), D).

1[Option ID=19709]
2[Option ID=19710]
3[Option ID=19711]
4[Option ID=19712]

Sl. No.129
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Arrange the following in the right sequence of Maslow's Hierchy of need starting from the

lowest order need

(A) Job security

(B) Achievement

(C)  Transforming perception of self into reality
(10)] Hunger

(E)  Belonginess
Choose the correct answer from the options given below :
(1) (D), (B), (E), (&), (C)
(2) (A), (D), (B), (E), (C)
(3) (D). (A). (E), (B), (C)
(4) (E). D), (C), (B), (A)
i1 g0 wieuiEa STEvEE % TEEA e 6 8 3THW %4 §U G HA 3 st Hifa:

(A) g
(B) Ivar=
(C) =4 % Fogsiem (3ed S4f) =1 7 § Fm
(D) gm
(D) e (3re)
= fou o et § © wE s w1 99 Hifw
(1) (D), (B), (E), (A), (C)
(2) (A (D), (B). (E), (C)
(3) (D), (A). (E), (B). (C)
(4)  (E). D), (©), B), (A)

1[Option ID=19713]
2[Option ID=19714]
3[Option ID=19715]
4[Option ID=19716]

Sl. No.130
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Given below are the names of Indian Trade Union/Associations. Arrange the sequence of their

establishment vear from earlier to later.

(A) All India Trade Union Congress

(B) The Textile Labour Association of Ahmedabad
(C) United Trade Union Congress

(D)  The Hindustan Mazdoor Sevak Sangh

(E)  Bharativa Mazdoor Sangh
Choose the correct answer from the options given below :
(1) (B), (A), (D), (C), (E)
(2) (A (C), (B), (D). (E)
(3) (B). (D), (A), (O), (E)
(4) (C). (E), (A), (D), (B)
fra e ¥3 g AmiTaEE % Tm By T E) 3 9w § 91 9 F w0 § ST S % HeEaeEn
safeTa it
&) e e gs A wEE
(B) = caweIsel e UHITUEA % STgHgrs
(C)  FTEes g3 e Hid
(D) = fergeam wog & w9
(E) W Hegt 51
fr1 fau o feaemedi | @ w8 I # = HifA
(1) (B). (A), (D), (C), (E)
(2) (A).(C), (B), (D), (E)
3) (B), (D). (A), (C). (E)
(4) (C). (E), (&), (D), (B)

1[Option ID=19717]
2[Option ID=19718]
3[Option ID=19719]
4[Option ID=19720]

Sl. No.131
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Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) : Labour Administration in the country has failed to deliver the desired
results for protection of labour.

Reasons (R) : It has been observed that despite various legislative measures, its

ineffective implemention has not given the expected results.

In the light of the above statements, choose the mosi appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)




(3 (A) 1s correct but (R) is not correct

4) (A) 1s not correct but (R) is correct

Hi1 g1 wga fag o € - v sl (Assertion (A))%Wﬁ%f‘@ﬂ%ﬁ@ﬂ?ﬂiﬁw(Reasons (R

aﬁ%‘xf{ﬁ:

TR (A) 29§ o9 g A % e & fer aitea gitems e == | fawe w2

F (R) : T wEa § arn @ e fafim frue suE & awEeg e s ' § et 16 e
% FRVT Vet TR TE W A g 2l

I HYA o I °, 9 B e fee § @ e 31w 3w = fif
(1) (A) ¥R (R) 2 = # =i (R), (A) F = =men 2

(2) (A) =R (R) 24 i &, &F (R), (A) 1 & =men 7 &

(3) (A) @ &, & (R) =&l 4 2

B ()= = 2, @ (R) 56 2

1[Option ID=19721]
2[Option ID=19722]
3[Option ID=19723]
4[Option ID=19724]

Sl. No.132
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Arrange the following welfare and health provisions of the contract Labour (Regulation and

Abolition) Act, 1970 in asending order of sections:

(A) Rest room
(B) First aid facility
(®)] Canteen

(D) Other facility
Choose the correct answer from the options given below :
(1) CADEBE
(2 A CB.D
(3) BACD
(4) C.B.D A
1 om (fafmme it seama) sfufem 1970 % Feiea seam 3t @wen gad sy 6 gwms +
FTIR 9 AAIE H | =i it
(A) T =
(B)  wufas 3= gl
(€ *A
(D) = gl

Hr= feu 7o fasedi § & w1 I 1 =9 it

(1) ¢ ADB
(2) A C,B,D
(3)




B.AC,D

(4 C.B,D A

1[Option ID=19725]
2[Option ID=19726]
3[Option ID=19727]
4[Option ID=19728]

Sl. No.133
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Arrange in ascending order the steps of proceedings for fixing or revising minimum wages

under the Minimum Wages Act, 1948.

(A) Appointing Committee and Sub Committee
(B) Indentification of Scheduled Employment
(C) Holding enquiries and making recommendations

(D)  Fixing and revising the minimum wages on the case may be.

Choose the correct answer from the options given below :

(1) (A). (B), (C). (D)

(2) (B)(A),(C), D)

(3) (C). (A). (B). (D)

(4) (C). (B, (A). (D)

<A el Afufem, 1948 F o7efiR 2w Aegd FEa wE stvEr e e f uhEn % Ron #®
IS 79§ sgafesa hifsa :

(A)  afufy 1K 3u-wiufa =1 A
(B)  ergfaa e &1 fogied

(C) = AT IR TG HET

(D)  =gan "eg 1 e oterEn gaiern, S ot feufa g s

= feu T faeredl § 9 G 39 1 =9 shifsu .
(1) (A), (B), (C), D)
(2) (B). (A, (C). (D)
(3) (). (A). (B). (D)
(4) (C).(B). (A). (D)

1[Option ID=19729]
2[Option ID=19730]
3[Option ID=19731]
4[Option ID=19732]

Sl. No.134
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Given below are two statements :

Statement I :  Labour Welfare, by its very nature, “Must necessarily be elastic; bearing
a some what different interpretation in one counting from another,
according to the different social custom, the degree of industralisation
and the educational development of the worker.”

Statement 11 :  Limits cannot be rigidly laid down for the scope of of Labour Welfare for

all industries and for all times.
In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement [ and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement [ is true but Statement I is false
(4) Statement I is false but Statement II is true
A 2 Fom Ry &
FAA 1. Afhek o, A TS R o AR elEE: w@=en 5 e, fed e s
st ZE f fim s ffo-fa, sierfmo 6 @ s w5 * fabe G S
SR gt fir w27
Fo I1: &t e o o ST weeifas afs Feam & & & foe Fernm @ Swn fafw @ 61 -
gt &l

IYTh HEA & el |, A By BEedl § 8 gEl 3 %1 994 i

(1) = 1 sfit 11 5HT & &
(2) FA 13 IZAT s @

(3) =u= [ 5ea &, o woe 11 w5
(4) = | 5 &, oif = [l ae |

1[Option ID=19733]
2[Option ID=19734]
3[Option ID=19735]
4[Option ID=19736]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A): A manopsonist in the Labour market is the Sole buyer of a factor of

production.

Reasons (R) : It is because there is only one demander, there is no distinction between the

manopsonist demand for Labour and market demand for Labour.

In the light of the above statements, choose the mosi appropriate answer from the options

given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A)is true but (R) is not false

(4)




(A) is not false but (R) is true

fi=r =t Fom fom e £ : v sAfiwea (Assertion (A) ¥ ¥ # fafam 2 @ 750 359 FR0 (Reasons (R))
FFETH :
FfErea (A) ‘g AR | U gl 3e91EA % U U2 &1 UHHTH shal Bl 2l
HI (R) THT 3afy & il U # HiRAl 8, 49 =i UshshaTlashil HI HT 49 I "rEn | oS
afte g firmen 74 21
I FUA & e |, 99 gy T e # @ w9 g 3w =9 i
(1) (A) =R (R) 31 &4 & 31 (R), (A) F1 &t =aren &
(2) () 3R (R) ZA1 79 &, S (R), (A) Fi &6 =men 76 @
(3) (W) &= 2, dfF (R) 35 2
(4) (A) s\ B, df (R) & 2

1[Option ID=19737]
2[Option ID=19738]
3[Option ID=19739]
4[Option ID=19740]
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Given below are two statements :

Statement [ : Scanlon Plan is designed to encourage cooperation, Involvement and

shaving of benefits.

Statement [1 1 Seanlon Plan divides pay roll expenses by total sales.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement I is correct

e 7w Frm #

FaA1: o T GEFIE, SaEadr s oAl $ e # gemtea 9 % o sfiesem 2

Fo I1:  Fhee ©H 90 T =99 1 Fel el 4 Tl w2

IR HUA F S §, G fow T el ® & e I w9 i
(1) ®=A 13 1139 o8t 3
(2) =eA 1 3 11 21 e &

(3) A [ @d &, i a7 11 7o &
(4) %o |7 8, wifeA %o [ 88 2




1[Option ID=19741]
2[Option ID=19742]
3[Option ID=19743]
4[Option ID=19744]
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Given below are two statements : One is labelled as Assertion A and the other is labelled as
Reaszon R.

Assertion (A) Government intervention in industrial relations system became inevitable
when Industrial peace started being threatened.

Reasons (R) : Industrial peace and harmony are essential for industrial development in
the eountry.

In the light of the above statements, choose the most appropriaie answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A)is not correct but (R) is correct

i =1 %o fam 7w £ : v s (Assertion (A) ¥ w9 # fafiaa 2 @ 790 39% FA9 (Reasons (R))
FETH ;
st (A) sftenfirs miia % fom = i ool 37 20 = sTeife d@9g gl (79) § aeed
FEAET SETAE & T
F (R) : =W § infie & o st mie o e stEE
I HeH & AT §, A 5 T et § | qad 30w I 9 fifm
(1) (A) 3i (R) 2 @ & 3 (R), (A) 1 we e @
(2) (A) =R (R) 21 &€ €, @A (R), (A) 1 &€ =amen 76 &
(3) (W& 2, wifsA (R) wel 7l 2
(4 (A)=d 7 2, dfFA (R) = @

1[Option ID=19745]
2[Option ID=19746]
3[Option ID=19747]
4[Option ID=19748]

SlI. No.138
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Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A) : Modern industralisation has created a new class of industrial proletariat
which, with rural background and with very little social and material
resources, is in great need of systematised help through social security
agencies.

Reasons (R) : Social security is a major aspect of public policy today and the extent of its

prevalence is a measure of progress made by the country towards the idea
of Welfare State.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)




(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A)is true but (R) is not false

(4) (A)is not false but (R) is true
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Given below are two statements :

Statement I : Under the Child Labour (Prohibition and Regulation) Act, 1986, “family”,
in relation to an occupier, means the individual, the wife or hushand, as
the case may be, of such individual and their children, brother or sister of

such individual.

Statement II :  Dutie and obligations of contractors under The Inter State Migrant
Workmen (Regulation of Employment and Conditions of Service) Act,

1979, is given in Chapter V of the Act.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement [ and Statement IT are false
(3) Statement I is true but Statement Il is false

(4) Statement I is false but Statement II is true
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Given below are two statements : One is lahelled as Assertion A and the other is labelled as

Reason R.
Assertion (A):  Outside leadership is not appreciable for trade unions.
Reasons (R) : Trade Unions when controlled by outside leadership under political

influence, and leadership functions with hidden intention of Serving the
political interest of its parent parties. Besides it adversly impacts the
growth of internal leadership with the result that the real cause of workers
are mostly ignored.

In the light of the above statements, choose the most appropriate correct answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct
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Read the following passage carefully; and answer questions question No. 91-95:

The workmen’s Breach of Contract Act, 1859 was a significant piece of legislation at the time.
This Act not only demanded fines in cases of employment breaches, but it also provided for
orders for specific performance of service. The Government began to intervene in the
employment of women and children, as well as the working hours of workers in factories and
mines, in the 1880s. The majority of law is the product of various government investigations.
However, the legislation was not fairly enforced in these industries working practices,
resulting in a very limited and selective effect. For example, the factories Act of 1881 only
applied to factories with 100 or more emplovees using electrical power. The factories Act of
1891 applied to factories with 50 or more employees on the premises.

Several factors mixed the industrial and political environment, including the rise of a strong
nationalist movement, the rapid growth of trade unions (Which led to the formation of the All
India Trade Union Congress in 1920), and the emergence of Communist influence in the labor
movement. At that time, the recently formed ILO (International Labour Organization) began
to influence the policies in relation to workers.

The Factories Act of 1922, the Mines Act of 1922, and the Worker's Compensation Act of 1923
were all protective legislation at the time. With regards to industrial relations, this time saw
the advent of a modern outlook, with the formulation of the Trade Union Act of 1926 and the
Trade Dispute Act of 1929, both of which are formally still in use by present-by India. Owing
to the world economic depression, there was a surge in unemployment. During this period,
there was continuous agitation for Indian independence, in which the All India Trade Union
Congress plaved a kev role. A wave of strikes accompanied the mass dismissal, which
coincided with the economic recession. In 1929, the British government established the Roval
Commission on Labour in India. The Indian Labour Movement opposed the commission
Unrest in the workplace, wage reductions, and employment losses persisted.

The Industrial Employment (Standing Orders) Act of 1946 required employers to provide
employees with transparent terms and conditions of employment as required by the Act's
Schedule and the concerned authorities. The Factories Act of 1948 and the Minimum Wage
Act of 1948 were also important statutes during this period. Most of these laws has a system
similar to the industrial Disputes Act of 1947, which limited their application to specific types
of industry establishments.

foferfiaa meriw 7 sAE afer SR SH% YR W I H 91 § 95 a9 = I g1

FHFER AIEY 7 AUFEE, 1859 30 WA H OF Ageaqs @9™ o 39 Afafem 4 9 % fEee 9w
qEe § JH T W a7 Afug a1 & e e % e o S weaE an 1880 % 3 § e A
afeemall 3 ae-afame & e R SaefEl ot maEl § weg & wW % d9el & Awe § geaE
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Which of the following is not a correct statement?

The Factories Act of 1881 applied to factories with 100 or more employvees using

1) o
electirical power.

@ The Factories Act of 1891 applied to factories with 150 or more employees on the
premises.

3) The Factories Act of 1922, the Mines Act of 1922, and the Workmen's Compensation
Act of 1923 were all protective legislation at the time.

(@) The Workmen's Breach of Contract Act, 1859 provided for orders for specific

performance of service.
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Read the following passage carefully; and answer questions question No. 91-95:

The workmen’s Breach of Contract Act, 1859 was a significant piece of legislation at the time.
This Act not only demanded fines in cases of employment breaches, but it also provided for
orders for specific performance of service. The Government began to intervene in the
employment of women and children, as well as the working hours of workers in factories and
mines, in the 1880s. The majority of law is the product of various government investigations.
However, the legislation was not fairly enforced in these industries working practices,
resulting in a very limited and selective effect. For example, the factories Act of 1881 only
applied to factories with 100 or more emplovees using electrical power. The factories Act of
1891 applied to factories with 50 or more employees on the premises.

Several factors mixed the industrial and political environment, including the rise of a strong
nationalist movement, the rapid growth of trade unions (Which led to the formation of the All
India Trade Union Congress in 1920), and the emergence of Communist influence in the labor
movement. At that time, the recently formed ILO (International Labour Organization) began
to influence the policies in relation to workers.

The Factories Act of 1922, the Mines Act of 1922, and the Worker's Compensation Act of 1923
were all protective legislation at the time. With regards to industrial relations, this time saw
the advent of a modern outlook, with the formulation of the Trade Union Act of 1926 and the
Trade Dispute Act of 1929, both of which are formally still in use by present-by India. Owing
to the world economic depression, there was a surge in unemployment. During this period,
there was continuous agitation for Indian independence, in which the All India Trade Union
Congress plaved a kev role. A wave of strikes accompanied the mass dismissal, which
coincided with the economic recession. In 1929, the British government established the Roval
Commission on Labour in India. The Indian Labour Movement opposed the commission
Unrest in the workplace, wage reductions, and employment losses persisted.

The Industrial Employment (Standing Orders) Act of 1946 required employers to provide
employees with transparent terms and conditions of employment as required by the Act's
Schedule and the concerned authorities. The Factories Act of 1948 and the Minimum Wage
Act of 1948 were also important statutes during this period. Most of these laws has a system
similar to the industrial Disputes Act of 1947, which limited their application to specific types
of industry establishments.

foferfiaa meriw 1 SAES feT SR 3HF YR W T H 91 § 95 a9 = I g1

FHFER AIEY 7 AUFEE, 1859 30 WA H OF Ageaqs @9™ o 39 Afafem 4 9 % fEee 9w
qE § JHH T W A7 g a1 % i feaes % e S weaE an 1880 % 3R § aeen A
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Which of the following is not associated with Labour Welfare and Industrial Relations?
(1) The industrial Employment (Standing Orders) Act, 1926
(2) The Competition Act, 2002
(3) The Minimum Wages Act, 1947

(4) The Industrial Dispute Act, 1948

frafafias # % =1 @1 v 2 Foam S i Saui § gataa 9@ 27
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(2) vtz sfafEs, 2002

(3) —Io" "agll AfaftEm, 1947
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Read the following passage carefully; and answer questions question No. 91-95:

The workmen’s Breach of Contract Act, 1859 was a significant piece of legislation at the time.
This Act not only demanded fines in cases of employment breaches, but it also provided for
orders for specific performance of service. The Government began to intervene in the
employment of women and children, as well as the working hours of workers in factories and
mines, in the 1880s. The majority of law is the product of various government investigations.
However, the legislation was not fairly enforced in these industries working practices,
resulting in a very limited and selective effect. For example, the factories Act of 1881 only
applied to factories with 100 or more emplovees using electrical power. The factories Act of
1891 applied to factories with 50 or more employees on the premises.

Several factors mixed the industrial and political environment, including the rise of a strong
nationalist movement, the rapid growth of trade unions (Which led to the formation of the All
India Trade Union Congress in 1920), and the emergence of Communist influence in the labor
movement. At that time, the recently formed ILO (International Labour Organization) began
to influence the policies in relation to workers.

The Factories Act of 1922, the Mines Act of 1922, and the Worker's Compensation Act of 1923
were all protective legislation at the time. With regards to industrial relations, this time saw
the advent of a modern outlook, with the formulation of the Trade Union Act of 1926 and the
Trade Dispute Act of 1929, both of which are formally still in use by present-by India. Owing
to the world economic depression, there was a surge in unemployment. During this period,
there was continuous agitation for Indian independence, in which the All India Trade Union
Congress plaved a kev role. A wave of strikes accompanied the mass dismissal, which
coincided with the economic recession. In 1929, the British government established the Roval
Commission on Labour in India. The Indian Labour Movement opposed the commission
Unrest in the workplace, wage reductions, and employment losses persisted.

The Industrial Employment (Standing Orders) Act of 1946 required employers to provide
employees with transparent terms and conditions of employment as required by the Act's
Schedule and the concerned authorities. The Factories Act of 1948 and the Minimum Wage
Act of 1948 were also important statutes during this period. Most of these laws has a system
similar to the industrial Disputes Act of 1947, which limited their application to specific types
of industry establishments.

foferfiaa meriw 7 sAE afer SR SH% YR W I H 91 § 95 a9 = I g1

FHFER AIEY 7 AUFEE, 1859 30 WA H OF Ageaqs @9™ o 39 Afafem 4 9 % fEee 9w
qEe § JH T W a7 Afug a1 & e e % e o S weaE an 1880 % 3 § e A
afeemall 3 ae-afame & e R SaefEl ot maEl § weg & wW % d9el & Awe § geaE
FT WA * T o st wr fafim el 9 oforg e 9 9 gy, @ oS % -
FEER § T F ® e T AV AR A T o) e weaen 9 agd @i S g WE #
| FETE 3 BT H, 1881 1 HFedl st e oA e 9 39 31 el W an o e
100 a1 #HiEF FHar g0 91 1891 =1 kel wiafEm, Sl ofwr & e so @ sifas s

theefrEi g @R R e

% I AR ST TeEiTe TEEoT 5 ST B T, S U g9 UUATE SNEeE @ 959, §S
g # 5 & i (P 1920 4 s 3feen 2= gfma M &1 729 gan) S A JEeE § e
THTE I IFA WHE A1 IH T, T H TS0 SECASA] (AT AW HSA) J wAg0 & g 7 Afe
SHTEE AT SN T

1922 = Faell sAfEE, 1922 % @F stuiEy ot wdsn o afafme, 1923, 999 a9 & e
A fagm o) iR TEdl % Ao |, 39 999 oF YT A9 R 329 @ 1926 9 S98E 99
sAfafem 3w 1929 =1 ¢ foavE e =4 o ¥ 961 gdum wea | adt ot sfenfes =9 @ wam # )
Afraw sl w4t % Fno Fend # afz g8 of = wEfa % foa wRde = & e siges
=a T o foms e 3fem g= afem wEw 3 wwo g w5 fEk oo 93 e w Jiwie g
FETEr(t = WY gSaIEl f UF oE 1 TE IR F e e He H 9% T 1929 # fad s T e 3
WHd W #fbi & H@ay H gl SHEE &1 7189 fHan wrdE gfie digeE 3 58 wEm & Sty e wd
Tl T HHAM, =69 ° el e | we W

1946 % Areifies frm (cur smew) wfufem & e fecms 0 sfafem 6 s o gefim
it i SHATER FEEE & U F UnEE e 3 3 wem w offl 1948 # e
wfufiam it 1948 1 =gam S0 sfalEm ff 87 wafa & 9 ey w91 3 & st s 6
woet 1947 % s faar sfutem % e off e w5 sgmEm =i G s * sife i
= ifim = fam

Who played on important role in agitation against British for Indian Independence?

(1) Bharativa Mazdoor Sangh

(2) All India Trade Union Congress

(3) Trade Union Coordination Centre
(4) All India Central Council of Trade Unions
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Read the following passage carefully; and answer questions question No. 91-95:

The workmen’s Breach of Contract Act, 1859 was a significant piece of legislation at the time.
This Act not only demanded fines in cases of employment breaches, but it also provided for
orders for specific performance of service. The Government began to intervene in the
employment of women and children, as well as the working hours of workers in factories and
mines, in the 1880s. The majority of law is the product of various government investigations.
However, the legislation was not fairly enforced in these industries working practices,
resulting in a very limited and selective effect. For example, the factories Act of 1881 only
applied to factories with 100 or more emplovees using electrical power. The factories Act of
1891 applied to factories with 50 or more employees on the premises.

Several factors mixed the industrial and political environment, including the rise of a strong
nationalist movement, the rapid growth of trade unions (Which led to the formation of the All
India Trade Union Congress in 1920), and the emergence of Communist influence in the labor
movement. At that time, the recently formed ILO (International Labour Organization) began
to influence the policies in relation to workers.

The Factories Act of 1922, the Mines Act of 1922, and the Worker's Compensation Act of 1923
were all protective legislation at the time. With regards to industrial relations, this time saw
the advent of a modern outlook, with the formulation of the Trade Union Act of 1926 and the
Trade Dispute Act of 1929, both of which are formally still in use by present-by India. Owing
to the world economic depression, there was a surge in unemployment. During this period,
there was continuous agitation for Indian independence, in which the All India Trade Union
Congress plaved a kev role. A wave of strikes accompanied the mass dismissal, which
coincided with the economic recession. In 1929, the British government established the Roval
Commission on Labour in India. The Indian Labour Movement opposed the commission
Unrest in the workplace, wage reductions, and employment losses persisted.

The Industrial Employment (Standing Orders) Act of 1946 required employers to provide
employees with transparent terms and conditions of employment as required by the Act's
Schedule and the concerned authorities. The Factories Act of 1948 and the Minimum Wage
Act of 1948 were also important statutes during this period. Most of these laws has a system
similar to the industrial Disputes Act of 1947, which limited their application to specific types
of industry establishments.

foferfiaa meriw 7 sAE afer SR SH% YR W I H 91 § 95 a9 = I g1

FHFER AIEY 7 AUFEE, 1859 30 WA H OF Ageaqs @9™ o 39 Afafem 4 9 % fEee 9w
qEe § JH T W a7 Afug a1 & e e % e o S weaE an 1880 % 3 § e A
afeemall 3 ae-afame & e R SaefEl ot maEl § weg & wW % d9el & Awe § geaE
FT WA * T o st wr fafim el 9 oforg e 9 9 gy, @ oS % -
FEER § T F ® e T AV AR A T o) e weaen 9 agd @i S g WE #
| FETE 3 BT H, 1881 1 HFedl st e oA e 9 39 31 el W an o e
100 a1 #HiEF FHar g0 91 1891 =1 kel wiafEm, Sl ofwr & e so @ sifas s
theefrEi g @R R e

SF FRF § et o oot Tata w1 afSE 8 T, 9 oF g TP S #1399, 3
g # 5 & i (P 1920 4 s 3feen 2= gfma M &1 729 gan) S A JEeE § e
THTE I IFA WHE A1 IH T, T H TS0 SECASA] (AT AW HSA) J wAg0 & g 7 Afe
SuTTe A SN g

1922 = Faell sAfEE, 1922 % @F stuiEy ot wdsn o afafme, 1923, 999 a9 & e
A fagm o) iR TEdl % Ao |, 39 999 oF YT A9 R 329 @ 1926 9 S98E 99
sAfafem 3w 1929 =1 ¢ foavE e =4 o ¥ 961 gdum wea | adt ot sfenfes =9 @ wam # )
Afraw sl w4t % Fno Fend # afz g8 of = wEfa % foa wRde = & e siges
=a T o foms e 3fem g= afem wEw 3 wwo g w5 fEk oo 93 e w Jiwie g
FETEr(t = WY gSaIEl f UF oE 1 TE IR F e e He H 9% T 1929 # fad s T e 3
WHd W #fbi & H@ay H gl SHEE &1 7189 fHan wrdE gfie digeE 3 58 wEm & Sty e wd
Tl T HHAM, =69 ° el e | we W

1946 % Areifies frm (cur smew) wfufem & e fecms 0 sfafem 6 s o gefim
it i SHATER FEEE & U F UnEE e 3 3 wem w offl 1948 # e
wfufiam it 1948 1 =gam S0 sfalEm ff 87 wafa & 9 ey w91 3 & st s 6
woet 1947 % s faar sfutem % e off e w5 sgmEm =i G s * sife i
= ifim = fam




Royal Labour Commission was :
(1) Set up by the British in UK
(2) Set up by British in India
(3) Set up by the British in Burma
(4) Set up by the Interim Government in Bengal
A T T
(1) st 3 9%, vt B
(2) =i A ¥ra § wafa fen
(3) U F =W § wa
(4) = H AR BERE 4 w1t e
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Read the following passage carefully; and answer questions question No. 91-95:

The workmen’s Breach of Contract Act, 1859 was a significant piece of legislation at the time.
This Act not only demanded fines in cases of employment breaches, but it also provided for
orders for specific performance of service. The Government began to intervene in the
employment of women and children, as well as the working hours of workers in factories and
mines, in the 1880s. The majority of law is the product of various government investigations.
However, the legislation was not fairly enforced in these industries working practices,
resulting in a very limited and selective effect. For example, the factories Act of 1881 only
applied to factories with 100 or more emplovees using electrical power. The factories Act of
1891 applied to factories with 50 or more employees on the premises.

Several factors mixed the industrial and political environment, including the rise of a strong
nationalist movement, the rapid growth of trade unions (Which led to the formation of the All
India Trade Union Congress in 1920), and the emergence of Communist influence in the labor
movement. At that time, the recently formed ILO (International Labour Organization) began
to influence the policies in relation to workers.

The Factories Act of 1922, the Mines Act of 1922, and the Worker's Compensation Act of 1923
were all protective legislation at the time. With regards to industrial relations, this time saw
the advent of a modern outlook, with the formulation of the Trade Union Act of 1926 and the
Trade Dispute Act of 1929, both of which are formally still in use by present-by India. Owing
to the world economic depression, there was a surge in unemployment. During this period,
there was continuous agitation for Indian independence, in which the All India Trade Union
Congress plaved a kev role. A wave of strikes accompanied the mass dismissal, which
coincided with the economic recession. In 1929, the British government established the Roval
Commission on Labour in India. The Indian Labour Movement opposed the commission
Unrest in the workplace, wage reductions, and employment losses persisted.

The Industrial Employment (Standing Orders) Act of 1946 required employers to provide
employees with transparent terms and conditions of employment as required by the Act's
Schedule and the concerned authorities. The Factories Act of 1948 and the Minimum Wage
Act of 1948 were also important statutes during this period. Most of these laws has a system
similar to the industrial Disputes Act of 1947, which limited their application to specific types
of industry establishments.

foferfiaa meriw 7 sAE afer SR SH% YR W I H 91 § 95 a9 = I g1

FHFER AIEY 7 AUFEE, 1859 30 WA H OF Ageaqs @9™ o 39 Afafem 4 9 % fEee 9w
qEe § JH T W a7 Afug a1 & e e % e o S weaE an 1880 % 3 § e A
afeemall 3 ae-afame & e R SaefEl ot maEl § weg & wW % d9el & Awe § geaE
FT WA * T o st wr fafim el 9 oforg e 9 9 gy, @ oS % -
FEER § T F ® e T AV AR A T o) e weaen 9 agd @i S g WE #
| FETE 3 BT H, 1881 1 HFedl st e oA e 9 39 31 el W an o e
100 a1 #HiEF FHar g0 91 1891 =1 kel wiafEm, Sl ofwr & e so @ sifas s

theefrEi g @R R e

% I AR ST TeEiTe TEEoT 5 ST B T, S U g9 UUATE SNEeE @ 959, §S
g # 5 & i (P 1920 4 s 3feen 2= gfma M &1 729 gan) S A JEeE § e
THTE I IFA WHE A1 IH T, T H TS0 SECASA] (AT AW HSA) J wAg0 & g 7 Afe
SHTEE AT SN T

1922 = Faell sAfEE, 1922 % @F stuiEy ot wdsn o afafme, 1923, 999 a9 & e
A fagm o) iR TEdl % Ao |, 39 999 oF YT A9 R 329 @ 1926 9 S98E 99
sAfafem 3w 1929 =1 ¢ foavE e =4 o ¥ 961 gdum wea | adt ot sfenfes =9 @ wam # )
Afraw sl w4t % Fno Fend # afz g8 of = wEfa % foa wRde = & e siges
=a T o foms e 3fem g= afem wEw 3 wwo g w5 fEk oo 93 e w Jiwie g
FETEr(t = WY gSaIEl f UF oE 1 TE IR F e e He H 9% T 1929 # fad s T e 3
WHd W #fbi & H@ay H gl SHEE &1 7189 fHan wrdE gfie digeE 3 58 wEm & Sty e wd
Tl T HHAM, =69 ° el e | we W

1946 % Areifies frm (cur smew) wfufem & e fecms 0 sfafem 6 s o gefim
it i SHATER FEEE & U F UnEE e 3 3 wem w offl 1948 # e
wfufiam it 1948 1 =gam S0 sfalEm ff 87 wafa & 9 ey w91 3 & st s 6
woet 1947 % s faar sfutem % e off e w5 sgmEm =i G s * sife i
= ifim = fam

Assertion (A) : ILO began influence the policies in relation to workers.

Reasons (R) : Several factors mixed the industrial and political environment, including
the rise of a strong nationalist movement, the rapid growth of trade unions
(which led to the formation of the All India Trade Union Congress in 1920),

and the emergence of Communist influence in the labor movement.

(1) (A) and (R) both are correct but (R) is not the right explanation of (4)

(2) (A)and (R) both are correct and (R) is the right explanation of (A)




3) (A) and (R) both are incorrect

(4) (A)is correct but (R) is not correct

FfiRea (A) AR | WG F Hay | e ® warEm wen s = fEm

9 (R) % IR AR A e TEiE ® gt 8 e vE wees ugaE
HAEEA T 354, ¢8 gHEA J a9 & @ Gy (e 1920 F s stEm gw gfee
FH 1 A FAT) R AWF AGIeH § FfE THE F 359 WEA 211

(1) (A) i (R) 3T & & W, (A) H wE e (R) @ 2

(2) (&) =i (R) ZF1 = & s (A) T & =en (R) #

(G) () iR R) FH = A @

(4) (A)ud 2 Ty (R) = T R

1[Option ID=19777]
2[Option ID=19778]
3[Option ID=19779]
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Read the following passage; and answer question Nos. 96 to 100:

Findings of a survey on stress during COVID times conducted by a global professional
network in India during 3™ quarter of 2021, narrated here below:

India’s overall workforce confidence remained steady with a composite score of +55 from July
31 to September 24, 2021, despite drastic transformations in the world of work. But keeping
up with these times of change for the last 18 months has adversely affected the mental health
of working professionals in the country. When asked to share their primary reasons for work
stress, employed professionals cited ‘balancing work with personal needs’ (34%), ‘not making
enough money’ (32%), and ‘slow career advancement’ (25%) as the top there stressors at work
today. Amid such stressful times, 1 in 3 professionals are also seen drawing optimism from
the availability of jobs (36%) and improved control over expenses (30%) in today's recovering,
vet competitive jobs marketplace. As workforce priorities continue to change in these
transformative times, findings go on to indicate that flexibility and work-life balance will
serve as critical talent drivers across the Indian professional landscape for years to come.
While greater flexibility remains a mutual need across generations, younger professionals
found it easier to take a break than their older cohorts. Findings reveal that millennials were
2x more likely to take time-offs, while Gen Z professionals were 1.5x more likely to take
breaks during the day, when compared to Baby Boomers. Interestingly, hoomers were 1.5x
more likely to be open with their colleagues about mental health and stress when compared to
millennials as well as Gen Z professionals.

There's a wide gap between what employees need and what employers are offering to cope
with stress. While nearly half of (47%) employed professionals wish to end work at reasonable
hours, only about one-thirds (36%) were actually able to do so. Also, while 41% planned for
time-off, only 30% could take time off in the past two months. ‘These alarming statistics
reflect the urgency for companies to understand how creating a culture that encourages work-
life balance and prioritizes wellbeing is critical moving forward’ stated by the head of the
survey company.

frfefiaa e = eAgEs uleu o 35 S9N W WA ¥ 96 ¥ 100 % I gifor |

qd § U Ifvas Fadifie deas 2 wifag wia # 99 2001 Fi dedt fqmEt ¢ 20 fee U 2w ged

4 I g § yee SN % AESE, WG F 990 HREd H AT 31 IS § 24 fHaer, 2021 F
GH +55 % THIFd TR % Wy R @ 2 weg frm 18 W % 3 ugae % wwg 3 39 % #e
EAIRE] & WHdS E@red W figa 99 S gl 99 FEifsa s 8 & geE % 39 memiE
FIOT 1 FqH & o0 gl T a1 IeH A9 @ ° ARET AETIRAHA o wH F aged S| (34%),
‘ate e @S 7 w0 (32%), o St d ofdft wifa’ (25%) w9 watE gae FwEs @
oo o UH HHE % St" 3 H @ 1 USeR A o o | 38 @, Sfaant Al sEr o et f seersa
(36%) 3R @l W sigel =0 (30%) & A9 e S fe@ns foam) S 39 Suianit 999 | Freied
MUTHRATY, SEct T 8, Faav & fshd 3Fa sd & & T iR & -Sied §qed IRd™ e aigya
4 Nl qeh Heeaqul TfaHT STeieh 1 W A | Al aftar q fifedt o v ureafie sravear wdt
2, AU Fa AfTF T7 & FEARET H GO § J TR ATH M H 3 o od &1 oS § gan Fwq
2 T welt spd i qan ° faeifeea g s oF i e 2 o s S did & ueEd gr A e
o G 1.5 T A At 7w A feeee g o fieifeen o S did % uere i gen §
qfs TRe S gud % He" § qEE gl U] @EdlliEl & W Go A B h 1.5 A s
YT ot

We can conclude that:

(1) Gen Z employvees are careless

(2) Millennials are careful about Baby Boomers

(3) Baby boomers are more open to discuss their stress issues with others

(4) Baby Boomers are less careful about Gen Z

7R 97 e e |94 § TR

(1) e g & sean e §)
(2) ToeitEes == g9 & 91 § "= £
(3) ol I G ok I S g H Ge WS e b A § g g

(4) =t o Js it % 9§ w9 AEae §)
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2[Option ID=19782]
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Read the following passage; and answer question Nos. 96 to 100:

Findings of a survey on stress during COVID times conducted by a global professional
network in India during 3 quarter of 2021, narrated here below:

India’s overall workforce confidence remained steady with a composite score of +55 from July
31 to September 24, 2021, despite drastic transformations in the world of work. But keeping
up with these times of change for the last 18 months has adversely affected the mental health
of working professionals in the country. When asked to share their primary reasons for work
stress, employed professionals cited ‘balancing work with personal needs’ (34%), ‘not making
enough money’ (32%), and ‘slow career advancement’ (25%) as the top there stressors at work
today. Amid such stressful times, 1 in 3 professionals are also seen drawing optimism from
the availability of jobs (36%) and improved control over expenses (30%) in today’s recovering,
vet competitive jobs marketplace. As workforce priorities continue to change in these
transformative times, findings go on to indicate that flexibility and work-life balance will
serve as critical talent drivers across the Indian professional landscape for years to come.
While greater flexibility remains a mutual need across generations, younger professionals
found it easier to take a break than their older cohorts. Findings reveal that millennials were
2x more likely to take time-offs, while Gen Z professionals were 1.5x more likely to take
breaks during the day, when compared to Baby Boomers. Interestingly, hoomers were 1.5x
more likely to be open with their colleagues about mental health and stress when compared to
millennials as well as Gen Z professionals.

There's a wide gap between what employees need and what emplovers are offering to cope
with stress. While nearly half of (47%) employed professionals wish to end work at reasonable
hours, only about one-thirds (36%) were actually able to do so. Also, while 41% planned for
time-off, only 30% could take time off in the past two months. ‘These alarming statistics
reflect the urgency for companies to understand how creating a culture that encourages work-
life balance and prioritizes wellbeing is critical moving forward’ stated by the head of the
sUrvey company.

frfafiaa ey = eryde ufeu R 36 IR W WA | 96 ¥ 100 & I g |

qRd § U Ifvas I deas o0 wifag i & 99 2001 §i diedt fqaet & 2 fre U wm ged
gaeq o fserat =1 = gl feran mn 2:

4 i g § e S o AESE, WG 8 990 HEEd S ATIEd 31 IS 9 24 e, 2021 F
GH +55 % THIFd TR % @y foR @ 21 weg fr 18 W % 39 agad % wwy 3 39 % @eid
SRR % AR ERe W kigd NE S 2| 59 e aaiE | S8 g9 F e myuiis
FIOT %1 FqH = o0 gl T 91 IeH A @ ° SAReT AEvIEaid 4 & # aged S (34%),
‘ate wmufy @ fSa 7 w0 (32%), o S d oidft wifa’ (25%) #t 9 matE gae R waE)
2ol o UH 999 o o9 3 5§ 1 USa AN o O § 38 @, Siaanht [l aER § At o ucrsad
(36%) R = W sat FrEEmr (30%) & @ S s fowr o S8 s wuiaeEtd wwa § s f
MATHFATY, 56t T 8, Taav & ki 3Fa sd & & T iR 1/ -Sied 9qeq IRd™ saanties afigya
d ot qeh Hgeaqul UfaHT Aot 1 FW Ha | Al aftarE q fifedt T v ureafie sravear wd
2, U Fa A 37 % FeAlEl H g H a1 USIeR AfF A H 51 of od 2| Tswst | war g
2 T st spd it qan o faeifeea g s oF i dure g oft s S fid & aeEd g 2 A e
o G 1.5 T A At T8 S feeee g B ficifeen o Sie did % terew it geen §
qfe FRe S gud % He" § qEd g U FedliEl % W ga o[ B h 1.5 T s
HUTET off|

Which of the following is not a correct statement?

(1)  Gen Z professionals were 1.5x more likely to take breaks during the day.

(2) Millennials were 2x more likely to take time-offs.

Baby boomers were 1.5x more likely to be open with their colleagues about mental
health and stress when compared to millennials as well as Gen Z professionals

(3)
(4) Baby boomers were 2.5x more likely to take time-offs.

et & & =9 @1 %= a8 7 27
(1) S i TS g A F e o w15 T e o)
(2) Tocifaes gm 2m i = 6 G927 s o)




@ frfren it S N F W qo § W T W wE S g § S g
Al & WY AR 91d A Al 1.5 AT A Guan o)

(4)  ==ft sl g0 2TeH ST T T \@EEA 2.5 T A o
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Read the following passage; and answer question Nos. 96 to 100:

Findings of a survev on stress during COVID times conducted by a global professional
network in India during 3 quarter of 2021, narrated here below:

India’s overall workforce confidence remained steady with a composite score of +55 from July
31 to September 24, 2021, despite drastic transformations in the world of work. But keeping
up with these times of change for the last 18 months has adversely affected the mental health
of working professionals in the country. When asked to share their primary reasons for work
stress, employed professionals cited ‘balancing work with personal needs’ (34%), ‘not making
enough money’ (32%), and ‘slow career advancement’ (25%) as the top there stressors at work
today. Amid such stressful times, 1 in 3 professionals are also seen drawing optimism from
the availability of jobs (36%) and improved control over expenses (30%) in today’s recovering,
vet competitive jobs marketplace. As workforce priorities continue to change in these
transformative times, findings go on to indicate that flexibility and work-life balance will
serve as critical talent drivers across the Indian professional landscape for years to come.
While greater flexibility remains a mutual need across generations, younger professionals
found it easier to take a break than their older cohorts. Findings reveal that millennials were
2x more likely to take time-offs, while Gen Z professionals were 1.5x more likely to take
breaks during the day, when compared to Baby Boomers. Interestingly, boomers were 1.5x
more likely to be open with their colleagues about mental health and stress when compared to
millennials as well as Gen Z professionals.

There's a wide gap between what employees need and what emplovers are offering to cope
with stress. While nearly half of (47%) employed professionals wish to end work at reasonable
hours, only about one-thirds (36%) were actually able to do so. Also, while 41% planned for
time-off, only 30% could take time off in the past two months. ‘These alarming statistics
reflect the urgency for companies to understand how creating a culture that encourages work-
life balance and prioritizes wellbeing is critical moving forward’ stated by the head of the
survey company.

frferfiaa Teme = eagEe ey T 3T YR W WA F 96 ¥ 100 % I |

YA § U AfTaeh sqa@niies I gl Hifag we § oN 2001 @t dedt fomrE % 2 fer 2w ged
A& % fsp] 1 A= avie e T g

&4 I g W e YN o ATESE, WG $ @90 FEeEd H ATIEd 31 Jas § 24 e, 2021 F
G +55 % THIhd TR & @19 R @ 81 Weg T 18 "8 % 39 e % @ A 39 % weia
STl & WS W@red W Uidga 99 ST ¢ 99 e saamfE 8 & g9 % 39 meumieE
FIOT 1 FqH & T Fgl T q1 IEH A FE 0 AR AFTIRAAl § FR F Aged SeE (34%),
‘gaty wuly @fSa 7 wEr (32%), o Shifaew § ot wifa’ (25%) # 9 wat= gaE wRsE SqE|
7 % UH gHE % S" 3 H & 1 ISR A & S 8 38 @, gfaant Al aEr 8 St f seersa
(36%) TR @@= W siga o (30%) & ST e S4ar fe@ns o) S §7 Sl 99 | FrRieEd
mufierard e W@ E, gdam % e $fa s # 5 T ot e -sien ggen wid safis afgy
o =Nt g HEeaul UfuT ST 1 F Hd @) Aft a=iamE a difedt 9 s areafie stevear
2, AU Fa AfTE T7 & FEARET G § JaT AR AU AEH H 3 o o &1 Fews 8 A Se
2 T Sielt spd it qemn o ficifeen gro st o & waren g T ot St Ste it o aeed gr faa A s
oH o WEEET 1.5 A1 AT off| 77 I feween g R Peifaen ot S did % e i ge |
qfs ERed N gud % Heu § qEd g o1ud HedliEl %k Wy ga L o[ w H 1.5 T
YT ot

Which of the following is a more suitable statement about the passage?

(1) The survey is fool-proof and can be used for generalization.

(2) The state of mental health of Indian employees is at alarming stage.

There's a wide gap between what employees need and what employers are offering to
cope with stress.

(3)

(4)




The survey is mainly focused on Baby Boomers.

T % "y # Fefefas § 8 w0 W wee faE 3w g7

(1) T GET2 # 37N 3ER am=iE < fow s fe = g 21

(2) AW FEAET % s = 1 wih M = g 2

zaE ¥ Fued & wmel § sd=niEl f A@Evawas @ s i G % e s
A B

(4) TEE EAAT S g W HZA 2

(3)
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Read the following passage; and answer question Nos. 96 to 100:

Findings of a survey on stress during COVID times conducted by a global professional
network in India during 3 quarter of 2021, narrated here below:

India’s overall workforce confidence remained steady with a composite score of +55 from July
31 to September 24, 2021, despite drastic transformations in the world of work. But keeping
up with these times of change for the last 18 months has adversely affected the mental health
of working professionals in the country. When asked to share their primary reasons for work
stress, employed professionals cited ‘balancing work with personal needs’ (34%), ‘not making
enough money’ (32%), and ‘slow career advancement’ (25%) as the top there stressors at work
today. Amid such stressful times, 1 in 3 professionals are also seen drawing optimism from
the availability of jobs (36%) and improved control over expenses (30%) in today’s recovering,
vet competitive jobs marketplace. As workforce priorities continue to change in these
transformative times, findings go on to indicate that flexibility and work-life balance will
serve as critical talent drivers across the Indian professional landscape for years to come.
While greater flexibility remains a mutual need across generations, younger professionals
found it easier to take a break than their older cohorts. Findings reveal that millennials were
2x more likely to take time-offs, while Gen Z professionals were 1.5x more likely to take
breaks during the day, when compared to Baby Boomers. Interestingly, hoomers were 1.5x
more likely to be open with their colleagues about mental health and stress when compared to
millennials as well as Gen Z professionals.

There's a wide gap between what employees need and what emplovers are offering to cope
with stress. While nearly half of (47%) employed professionals wish to end work at reasonable
hours, only about one-thirds (36%) were actually able to do so. Also, while 41% planned for
time-off, only 30% could take time off in the past two months. ‘These alarming statistics
reflect the urgency for companies to understand how creating a culture that encourages work-
life balance and prioritizes wellbeing is critical moving forward’ stated by the head of the
sUrvey company.

frfafiaa ey = eryde ufeu R 36 IR W WA | 96 ¥ 100 & I g |

A § U IfTas I deas 20 wifag i & 99 2001 $i dedt fqaet & 2 fre U ww ged
gaequ o faseRat =1 = gl feran mn 2:

4 i g § e S o AESE, WG 8 990 HEEd S ATIEd 31 IS 9 24 e, 2021 F
GHH +55 % THIFd TR % @Y foR @ 21 wg fr 18 W % 3@ a5 % wwy 3 39 % sed
SRR % AR ERe W kigd NE S 2| 59 e aaiE | S8 g9 F e myuiis
HIUT I T 6 Y Fgl TN Al IeE A FE W ARETG AavIEaA § ®E F aged deH (34%),
‘aty wmufy @ fSa 7 w0 (32%), R S d ofdf wifa’ (25%) #t f9 matE gae e waE)
ZoTa % UH H9E % ST 3 F ® 1 USRS % ol § 38 (@, Siadnt At aEe H Attt i seersuar
(36%) iR @ W sat FEEmr (30%) & @ 9w s fowt o S8 s wuiaeedt g § s f
AT, 56t @ 8, Faav & ki 3Fa sd & & T i %/ -Sied 9qeq IRd™ saEntes aigra
4 9ot qeh Heeaqul UfaHT STers 1 FW A | Al aftarm @ fifedt 9w v ureafie sravear wd
2, U Fa AT I7 % TEAEl T g H a1 USiaR AfF A H 5 of od 2| Trswst 8§ war se
2 T st spd it qan o faeifeea g s oF i dure g oft s S fid & aeEd g 2 A e
o B G 1.5 T A ot 7w S feeee g B fcifEen o Sie il % Usiew it geen o
qfe FRe S gud % He" § qEd g U FedliEl % W ga o[ B h 1.5 T s
quraA o




Statement [ : There's a wide gap between what employees need and what employers

are offering to cope with stress.
Statement I : Nearly 3/4% (74%) of employed professionals wish to end work at
reasonable hours.
(1) Both Statement | and Statement II are correct
(2) Both Statement [ and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement Il is correct but Statement I is incorrect

S 7t = R T E
Fo [ = ° e & o we=nfEl i smErasmae i FrEmme S e F | = i B

Fod 11:  Feifom St § & im0 =g (74%) -3 99 W FE T w0 % 355F 8
I HIH & AeF 1, A 2o Hewedi § 4 gg 39 = =99 Fifau

(1)  F=A 13 11291 = &

(2) #9913 115HT & 76 &

(3) w156 2, W Fo (L& 78 &
(4) =3 1156 2, veg 97 18 F 2
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Read the following passage; and answer question Nos. 96 to 100:

Findings of a survey on stress during COVID times conducted by a global professional
network in India during 3™ quarter of 2021, narrated here below:

India’s overall workforce confidence remained steady with a composite score of +55 from July
31 to September 24, 2021, despite drastic transformations in the world of work. But keeping
up with these times of change for the last 18 months has adversely affected the mental health
of working professionals in the country. When asked to share their primary reasons for work
stress, employed professionals cited ‘balancing work with personal needs’ (34%), ‘not making
enough money’ (32%), and ‘slow career advancement’ (25%) as the top there stressors at work
today. Amid such stressful times, 1 in 3 professionals are also seen drawing optimism from
the availability of jobs (36%) and improved control over expenses (30%) in today's recovering,
vet competitive jobs marketplace. As workforce priorities continue to change in these
transformative times, findings go on to indicate that flexibility and work-life balance will
serve as critical talent drivers across the Indian professional landscape for years to come.
While greater flexibility remains a mutual need across generations, younger professionals
found it easier to take a break than their older cohorts. Findings reveal that millennials were
2x more likely to take time-offs, while Gen Z professionals were 1.5x more likely to take
breaks during the day, when compared to Baby Boomers. Interestingly, hoomers were 1.5x
more likely to be open with their colleagues about mental health and stress when compared to
millennials as well as Gen Z professionals.

There's a wide gap between what employees need and what employers are offering to cope
with stress. While nearly half of (47%) employed professionals wish to end work at reasonable
hours, only about one-thirds (36%) were actually able to do so. Also, while 41% planned for
time-off, only 30% could take time off in the past two months. ‘These alarming statistics
reflect the urgency for companies to understand how creating a culture that encourages work-
life balance and prioritizes wellbeing is critical moving forward’ stated by the head of the
survey company.

frfefiaa e = eAgEs uleu o 35 S9N W WA ¥ 96 ¥ 100 % I gifor |

qd § U Ifvas Fadifie deas 2 wifag wia # 99 2001 Fi dedt fqmEt ¢ 20 fee U 2w ged

4 I g § yee SN % AESE, WG F 990 HREd H AT 31 IS § 24 fHaer, 2021 F
GH +55 % THIFd TR % Wy R @ 2 weg frm 18 W % 3 ugae % wwg 3 39 % #e
EAIRE] & WHdS E@red W figa 99 S gl 99 FEifsa s 8 & geE % 39 memiE
FIOT 1 FqH & o0 gl T a1 IeH A9 @ ° ARET AETIRAHA o wH F aged S| (34%),
‘ate e @S 7 w0 (32%), o St d ofdft wifa’ (25%) w9 watE gae FwEs @
oo o UH HHE % St" 3 H @ 1 USeR A o o | 38 @, Sfaant Al sEr o et f seersa
(36%) 3R @l W sigel =0 (30%) & A9 e S fe@ns foam) S 39 Suianit 999 | Freied
MUTHRATY, SEct T 8, Faav & fshd 3Fa sd & & T iR & -Sied §qed IRd™ e aigya
4 Nl qeh Heeaqul TfaHT STeieh 1 W A | Al aftar q fifedt o v ureafie sravear wdt
2, AU Fa AfTF T7 & FEARET H GO § J TR ATH M H 3 o od &1 oS § gan Fwq
2 T welt spd i qan ° faeifeea g s oF i e 2 o s S did & ueEd gr A e
o G 1.5 T A At 7w A feeee g o fieifeen o S did % uere i gen §
qfs TRe S gud % He" § qEE gl U] @EdlliEl & W Go A B h 1.5 A s
YT ot

Assertion (A) : Flexibility and work-life balance will serve as critical talent drivers

across the Indian professional landscape for vears to come.

Reasoning (R) : Workforce priorities continue to change in these transformative times.
(1) (A) and (R) both are correct but (R) is not the right explanation of (A)

(2)  (A) and (R) both are correct and (R) is the right explanation of (A)

(3) (A) and (R) both are incorrect

(4) (A) is correct but (R) is not correct

FfirReA (A) M R T6 # T H FE-SE daed ARdE Aaes qiggE § AEeet gie
=T T

A (R) : T BUEEAT HHY | " i arafiEan 5ge W@l

(1)




(A) 391 (R) <1 @et € w1, (A) i wét samen (R) 760 8
(2)  (A) 3 (R) SH1 @é & 341 (A) 1 =@t =5 (R) 2
(3) (A) 3R (R) &A1 & 7 2

(4) (A) =@ 2 W= (R) |e1 441 2

1[Option ID=19797]
2[Option ID=19798]
3[Option ID=19799]
4[Option ID=19800]




